i ea

BRRTIBIEN

WP it % i 3 11

WP #2%¢ H E A

WPA

WPDA

WPS

WPDS

WPKS

WPO

WPDO

WPZ

WPX

WPKZ

MR R TR

WPEKA

WPEDKA

WPEKS

WPEO

WPEDO

WPWEDO

WPWEO

WPEX

WPEDX

WPWEKO

WPWEDKO

WPWE

WPWEDK

- 317 -




WP #2%& H R A

T e BUR R

WPW

WPWA

WPWDKS

- 318 -

AS OX TV

4|




B %E I AL 7= m 25 44

WP s % A 3R A

BSE
Bk
Ainz=
B &
INiFE
L 1
J ]
L
— 71
3 g MR
/ R &
5 5 = = il
ERBENE SRR E
W P| W DIIKI| Al|135200 | — | 200900 | — | B
R Rtk LK E-W %%
W-JC % 2 ] P A W-Jrfie EE-% 2%
D4k
A-NHIE R
D- N Al B ML >4 K- L4544 S F
O-th 4 1m) L 135-200 — 0
Xt~
V- N4~
200-900- 7 Lt B-Hi flifi ) T-NH#1h)

- 319 -




WP s % A 3R A0

WPA A
| BB
:J' 31_ WXY
Fl:ﬂﬁ
N [ LS T
o
— ] AY
WiE R D 7
i
A B o| A E it FH
g # # i i E f
M
A X A A
o . . . . DNLEL] tH F1%H B2 | W=
Eidl] NERE i
RS kL] A |AB| B [BB|CC| H |HL| M | N | E | F G| Z =T U TV TS WxY |(ke)| (L)
40 1,10 | 143187 | 114 | 74 | 40 [138 | 40 [ 90 [100 | 70 [ 80 | 13 [ 10 [ 25 [ 12 | 4x2.5 | 28 | 14 5 %3 4 10.13
50 175 1108 [150 ] 97 | 50 [176 | 50 [120 [ 140 [ 95 [ 110 [ 15 [ 12 [ 30 | 12 | 4x2.5 | 40 | 17 5 %3 7 10.17
60 1715 1198 | 120 [ 168 [ 112 | 60 [204 | 60 [ 130 [ 150 | 105 [ 120 | 20 |12 | 40 | 15 5x3 50 | 22 7 x4 10 [0.22
70 120 12311140 [194 [131 | 70 [236 | 70 | 150 [ 190 [ 115 [150 [ 20 |15 [ 40 | 18 5x%3 60 | 28 7 x4 15 [0.60
80 261 [ 160 [ 214 [ 142 ] 80 | 268 | 80 | 170 [ 220 | 135 [ 180 | 20 [ 15 | 50 | 22 7 x4 65 | 32 [ 10x4.5 [ 20 |0.85
100 | 1,25 [322 190 | 254 [ 169 | 100 | 336 | 100 | 190 | 270 | 155 [ 220 | 25 [ 15 | 50 | 25 7 x4 75 |38 [ 10x4.5 | 35 |1.50
120 371 [ 219 [282 [ 190 [ 120 [ 430 | 120 [ 230 [ 320 [ 180 [ 260 | 30 [ 18 | 65 | 30 7 x4 85 | 45 | 12x4.5 | 60 [3.20
135 | 1730 [422 (249 [317 [ 210 | 135 [ 480 | 135 | 250 | 350 | 200 [290 | 30 [ 18 | 75 | 35 | 10 x4.5 | 95 | 55 16 x6 | 80 [3.60
147 | | 40 14321256 [320 [210 | 147 [460 [ 123 | 250 [350 [ 200 [280 [ 32 [18 [ 75 | 35 | 10x4.5 [ 95 | 55 16x6 | 98 [3.70
155 497 | 295 [ 382 | 252 | 155 | 531 | 135 [ 275 [ 390 | 220 [ 320 | 35 |21 | 85 | 40 12x5 | 110 | 60 | 18 x7 | 110 |3.80
175 | 1,50 [ 534 [ 314 | 388 [ 255 | 175 [ 600 | 160 [ 310 | 430 [ 250 [350 | 40 |21 | 85 | 45 | 14 x5.5 | 110 | 65 18 x7 [ 150 |4.60
200 580 | 342 [ 456 [ 319 [ 200 | 666 | 175 | 360 [ 480 | 290 [390 | 40 [24 | 95 [ 50 | 14x5.5 [ 125 | 70 | 20 x7.5 | 215 [ 6.50
250 | 1760 [703 [ 420 [ 552 [ 385 [ 250 | 800 | 200 | 460 | 560 | 380 | 480 | 45 |28 | 110 | 60 18 x7 155190 | 25x9 [360 [9.00
B A
WPS a8
= o
Wigm R =
A
H tH
A N A A A
o | s . . PNIL H F14H B2 | H=E
J ERES !
S |JH#EEL| A |AB| B |BB|CC|H |LL|M | N|E|F | G|Z ST TV ST WY (ke) | (L)
40 1,10 | 143 [ 87 [ 114 74 [ 40 141 | 60 | 90 [100| 70 [ 80 | 13 [10 | 25 [ 12 | 4x2.5 | 28 | 14 5 %3 4 10.30
50 175 1108 [ 150 | 97 | 50 [ 180 [ 80 [ 120 [ 140 | 95 [110 [ 15 [12 [ 30 | 12 | 4x2.5 | 40 | 17 5 %3 7 10.45
60 1715 [198 [ 120 [ 168 [ 112 | 60 [207 | 90 | 130 | 150 | 105 [ 120 | 20 [12 | 40 | 15 5x%3 50 | 22 7 x4 10 [0.55
70 120 12311140 [194 [ 131 [ 70 [238 [105 [ 150 [190 [ 115 [ 150 [ 20 [ 15 [ 40 | 18 5x%3 60 | 28 7 x4 15 [0.80
80 261 [ 160 [ 214 [ 142 | 80 | 273 | 120 | 170 | 220 | 135 [ 180 | 20 [ 15 | 50 | 22 7 x4 65 | 32 [ 10x4.5 | 20 |1.10
100 | 1,25 [322 190 [ 254 [ 169 | 100 | 334 | 150 | 190 | 270 | 155 [220 | 25 [15 | 50 | 25 7 x4 75 138 [ 10x4.5 | 35 [2.90
120 371 [ 219 [ 282 [ 190 [ 120 [ 423 [ 180 [ 230 [ 320 [ 180 [ 260 | 30 [ 18 | 65 | 30 7 x4 85 | 45 | 12x4.5 | 60 [4.40
135 | 1730 [ 422 [249 [ 317 [ 210 | 135 | 482 [ 215 | 250 | 350 [ 200 | 290 | 30 [ 18 | 75 [ 35 | 10x4.5 | 95 | 55 16 x6 | 80 [6.20
147 | | 40 14321256 [320 [210 [ 147 [ 460 [203 [250 [350 [200 [ 280 [ 32 [ 18 [ 75 [ 35 | 10x4.5 | 95 [ 55 10x6 | 98 [3.70
155 497 [295 [ 382 [ 252 [ 155 | 541 | 235 | 275 [ 390 | 220 [ 320 | 35 [21 | 85 | 40 12x5 [110] 60 | 18x7 [110 [6.50
175 | 1,50 | 534 [ 314 [ 388 [ 255 | 175 | 600 | 260 | 310 | 430 | 250 [ 350 | 40 [ 21 | 85 | 45 | 14 x5.5 | 110 | 65 18 x7 | 150 [8.00
200 580 | 342 [ 456 [ 319 [ 200 | 677 [ 290 | 360 [ 480 | 290 [390 | 40 [24 | 95 [ 50 | 14x5.5 [ 125 | 70 | 20 x7.5 | 215 [9.30
250 | 1760 [703 [ 420 [ 552 [ 385 | 250 | 824 [ 350 | 460 | 560 | 380 | 480 | 45 |28 | 110 | 60 18x7 1551 90 | 25x9 [360 18.0
- 320 - o




=% We e

WP X% 1£ 5] 3k 7~
A B c A B Cc
A A 2 I—Eﬁ ﬁll_—l Hir
@ INES A
Lﬂﬁ %;I W iﬂﬁ w [[] A 'im I =
we gk A | AB BB BC|cc | M N BB R | 6|2 e B e B (iigi} ;HHL%

40 1,10 | 143 | 87 | 74 | 45 | 40 | 94 | 184 | 70 | 74 | 86 10 10 | 25 | 12 | 4x2.5 | 28 | 14 5x3 5

50 175 | 108 | 97 | 50 | 50 | 116 | 220 | 90 | 93 | 102 | 15 12 | 30 | 12 | 4x2.5 | 40 | 17 5x3 6

60 1715 1198 [ 120 [ 112 | 55 | 60 | 126 | 260 [ 100 | 105 | 120 | 20 12 | 40 | 15 5x3 50 | 22 7 x4 10 60
70 1,20 231 | 140 | 131 | 65 | 70 | 156 | 295 | 120 | 120 | 135 | 20 15 | 40 | 18 5x3 60 | 28 7 x4 15 10
80 261 | 160 | 142 | 70 | 80 | 175 | 320 | 140 | 130 | 150 | 20 15 | 50 | 22 7 x4 65 | 32 | 10x4.5 | 20 50

100 1,25 | 322 | 190 | 169 | 90 | 100 | 224 | 375 | 190 | 155 | 180 | 26 | 15 | 50 | 25 7 x4 75 | 38 | 10x4.5 | 35

120 371 [ 219 | 190 | 100 | 120 | 266 | 450 | 220 | 185 | 215 | 30 | 18 | 65 | 30 7 x4 85 | 45 | 12 x4.5 | 50

135 1730 [7422 1249 [210 [ 110 | 135 [ 306 | 495 [ 260 [ 210 [ 235 [ 30 [ 18 [ 75 [ 35 | 10x4.5 [ 95 [ 55 16 x6 75

N = =[O |00 QAN A== OO |O | — 5
[}
(=]

147 1/40 432 | 256 | 210 | 114 | 147 | 302 | 558 | 250 | 230 | 278 | 32 18 | 75 | 35 | 10x4.5 | 95 | 55 16 x6 96 50
155 497 | 295 | 252 | 140 | 155 | 350 | 590 | 295 | 245 | 295 | 35 | 21 85 | 40 12 x5 110 | 60 18 x7 115 30
175 1/50 | 534 | 314 | 255 | 150 | 175 | 394 | 640 | 320 | 267 [ 323 | 40 | 21 | 85 | 45 | 14x5.5 | 110 | 65 18 x7 140 | 10.5
200 580 | 342 | 319 | 175 | 200 | 440 | 710 | 370 | 290 | 360 | 40 | 24 | 95 | 50 | 14x5.5 [ 125 | 70 | 20 x7.5 | 200 | 12.7
250 1/60 [705 [ 420 [ 385 [200 [ 250 [ 510 [ 860 [ 440 [ 350 [440 [ 45 [ 28 [110] 60 18 x7 155 | 90 25x9 1340 123.0
WPDA

18 o) 3k o~

A

H
A
e IE| PR ST 775 5=
BS |(Ky) |MEW| A ABIBBICCIH HL/M N E|F |G Z e eTm[iz] 0 T UL TxV IS S | WxY | (ke)
30 _[0.12 135]775 | 74 |40 [138]40 | 90 [100] 70 | 80 | 13 |10 [115]95 [140] 4 [M8| 31 | 11 | 4x12.8 | 28 | 14 | 5x3 5
50 | 0.18 151083 |97 |50 [176/50 [120[140]95 [110] 15 [ 12 [115]95 [140] 4 [M8| 31 | 11 | 4x12.8 | 40 | 17 | _5x3 8
60 | 0.37 16791 [112] 60 [204] 60 [130[150]105]120]20 [ 12 [130]110]160] 4 [M8| 33 | 14 | 5x16.3 | 50 | 22 | 7 x4 1

0.37 200[109 130[110[160] , M8 40 | 14 | 5x16.3

70 9314 110 99RON131] 70 236] 70 150|190 115(150| 20 |15 (BILIONO0 4 (8L A0S S x]6S 6o | ag | 74 17
80 01' 755 1715 |225/125(142| 80 [268 80 [170[220[135/180| 20 | 15 |165]130[200 4. 5|M10 ‘5‘3 ;Z gi%;g 65 | 32 | 10x4.5 | 22
100 | 1.5 | 1/20 [280148]169]100]336]100[190]270]155[220] 25 | 15 |165]130[200/4.5|MI0] 52 | 24 | 8 x27.3 | 75 | 38 | 10x4.5 | 38
120 221 1,25 [333/181(190[120[430/120|230(320{ 180260 | 30 | 18 [215/180[250| 5 [M12| 63 | 28 | 8x31.3 | 85 | 45 | 12x4.5 | 64
135 [—5=0— 1/30 |3752021210(135(480(135[250|350200(290| 30 | 18 215|180 [250| 5 [Mi2| 63 | 28 | 8x31.3 | 95 | 55 | 16x6 | 85
147 f3-34 1749 l41512350210]147|460(123[250|350 200(280| 32 | 18 [215]180[250| 5 |Mi2| 63 | 28 | 8x31.3 | 95 | 55 | 16x6 | 105
155 | 5.5 | 1750 [428]247]252[155/531]135275/390(220[320| 35 | 21 [265[230[300] 5 |[Mi2] 83 | 38 |10 x41.3 | 110 | 60 | 18x7 | 18
175 33— 1/60 481262 [255(175(600|160[310|430[250[350| 40 | 21 265230{300| 5 [Mi2| 83 | 38 [10x41.3 | 110 | 65 | 18x7 | 165
200 | 11.0 543[285[319]200/666]175 360 /480[290|390] 40 | 24 [300]250/350| 6 |Mi6| 114 | 42 | 12 x45.3 | 125 | 70 | 20 x7.5 | 236
250 |13 615[330(385250(800(200 460 [560(380 480 45 | 28 [300[250[350| 6 |Mi6| 114 | 42 | 12x45.3 | 155 | 90 | 25x9 | 396

0



WP s % A 3R A0

WPDS

4 () &

EE
EE

th oLs
|

LL

me )(\I?Vjv%i)ﬂtﬁttAABBBCCHLLMNEFGZLALBLéfELZ0 E“ﬁ
40 [0.12 135]75 | 74 40 [141] 60 |90 [100[ 70 | 80 [ 13 |10 [115]95 [140] 4 [M8] 31 8 5
501018 151183 [97 [50 [176[80 [120[140[95 [110[ 15 [ 12 [115[95 [140[ 4 [M8| 31 8 8

60 [ 0.37 | 1710 [167[91 [112]60[202]90 [130[150{105[120]20 [ 12 [130[110[160| 4 [M8| 33 3 11

70 0314 115 BOot131] 70 238105 150[ 190|115 ]150| 20 | 15 321101681 4 (M8 -3 17
80 572 1,20 [225]125[142]80 [273/120]170[220(135[180| 20 | 25 |165(130[20014. 5 W10 25 -5 2
100 | 1.5 | ,,,s [Z80[148[169100[334[150(190[270[155[220] 25 |15 [163]130[200 /4. 5[¥I0| 52 3 33
120 32 Lo P33[181]190]120/423]180[2301320]180/260) 30 | 18 [215]180/250] 5 |Mi2| 63 3 64
135 50 Lo [B75[2021210]135(482[215|250/350/200290| 30 | 18 [215|180[250] 5 |Mi2| 63 3 85

55 | 5.5 448 p47(252 155541235 275(390[220(320( 35 | 21 [2651230/300] 5 |MI2| 83 | 38 [ T0x41.3 [ 110 60 | 18x7 | 118
175 [ 3-3— 1750 l4g1]262(255175]600[260|310(430|250[350| 40 | 21 [265[230/300| 5 |12 83 | 38 [10x41.3 | 110 | 65 | 18x7 | 165
200 20| 1/60 [543[285[319]200677 /290|360 480[290(390 40 | 24 [300[250(350] 6 M6 114 | 42 |12 x45.3 | 125 | 70 | 20 x7.5 | 236
250 (-0 615[330(385250(824(350 [460[560(380|480( 45 | 28 [300[250[350| 6 |M16| 114 | 42 |12x45.3 | 155 | 90 | 25x9 | 396

WPDX

thai
moLB
dLC

WPDX# #5 [a] & 7~
A B Cc D A B [ D
A | LINE:2N i []] Al il |1 G NN N |
@ | D oy S @ | 1

milx il ™ 7 R i i S
o [NDE| o B L) B =R
BS () || A JABBBIBCICCIM | N | E[E B | 6 Z iy e R/ Tz 0 T U] TxvV [ IS TS | WxY | (ke)
30 _[0.12 135]75 | 74 |45 |40 | 94 [184] 70 | 74 |86 | 10 |10 [115]95 [140] 4 |M8| 31 | 11 | 4x12.8 | 28 | 14 | 5x3 5
50 | 0.18 151083 |97 |50 | 50 [116]220[90 193 [102] 15 [ 12 [115]95 [140] 4 [M8| 31 | 11 | 4x12.8 | 40 | 17 | 5x3 8
60 | 0.37 16791 [112] 55 | 60 [126]260]100[105]120] 20 | 12 [130]110[160] 4 [M8| 33 | 14 | 5x16.3 | 50 | 22 | 7 x4 11

0.37 200[109 130[110[160] , [M8| 40 | 14 | 5x16.3
70 9374 110 (2O9H0%31] 65 | 70 [156|205|120/120(135| 20 | 15 (BBILION00N 4 (M1 A0 1 1% L3 xI6.3 1 6o | 28 | 74 17
80 02— 1715 125]125]142| 70 | 80 |175[320/140(130|150| 20 | 15 [165[130200|4. 5 | M10 =23 +I3+-CX2L-8 1 65 | 32 | 10x4.5 | 22
100 | 1.5 | 1,20 [280[148]169]90 [100]224]375]190]155]180] 25 | 15 [165]130[200/4.5|M10| 52 | 24 | 8 x27.3 | 75 | 38 | 10 x4.5 | 38
120 22— 1,25 [333[181(190[100[120{266|450[220{185[215| 30 | 18 [215|180[250( 5 [Mi2| 63 | 28 | 8x31.3 | 85 | 45 | 12x4.5 | 64
135 [—5=0— 1730 [3752021210(110(135[306|495[260|210[235| 30 | 18 [215|180{250| 5 [Mi2| 63 | 28 | 8x31.3 | 95 | 55 | 16x6 | 85
147 (5-0— 1740 L1512350210{114/147|302|558[250/254 254| 32 | 18 [215[180[250| 5 |M12| 63 | 28 | 8x31.3 | 95 | 55 | 16x6 | 105
155 | 5.5 | 1/50 [448[247[252]140]155]350/590/290 245|295 35 | 21 |230[230]300] 5 |Mi2| 83 | 38 |10 x41.3 | 110 | 60 | 18x7 | 1i8
175 |3-3—| 1/60 |481[262[255(150|175|394|640|320|267 |323| 40 | 21 [265[230(300( 5 |M16| 83 | 38 | 10x41.3| 110 | 65 | 18x7 | 165
200 | 11.0 543]285[319]175]200(440710[370[290]360] 40 | 24 [300[250[350| 6 |Mi6| 114 | 42 | 12 x45.3 | 125 | 70 | 20 x7.5 | 236
250 (20 615[330(385200(250(510|860(440(350 440 45 | 28 [300[250[350| 6 |Mi6| 114 | 42 | 12x45.3 | 155 | 90 | 25x9 | 396
- 322 -

O




WP s % A 3R A

B A
BB
5 wxy
. _ F?I
h¥E [ /R .S
=
A B c A A E
#o| @ H [ H E ‘ i
. BD !
A A A A A
. i B T
= |Jdkik| A |AB| B |BB | AC | BC |AD|BD | CC |HL| H | ZxL o
R ** Tas | u TxV | 1S| s | wxy | (ko
40 143 | 87 | 114 | 74 | 95 | 61 | 78 | 42 | 40 | 35 | 125 | M6x12 | 25 | 12 | 4x2.5 | 28 | 14 553 g
50 175 [ 108 [ 150 | 97 | 111 68 | 85 | 50 | 50 | 35 | 150 | M6 x18 | 30 | 12 | 4x2.5 | 40 | 17 53 6.5
60 | 1710 [198 [ 120 | 168 | 112 | 127 | 76 | 105 | 55 | 60 | 42 | 177 | M8 x20 | 40 | 15 5x3 50 | 22 7 x4 9
70 | 1715 [231 [ 140 | 194 [ 131 [ 152 | 86 | 125 | 65 | 70 | 55 | 215 [M10x25] 40 | 18 5x3 60 | 28 7 x4 13
80 | 1,20 [261 | 160 | 214 | 142 | 169 | 102 | 140 | 70 | 80 | 65 | 250 |MI2 x28] 50 | 22 7 x4 65 | 32 | 10x4.5 | 21
100 | 1,25 [322 [ 190 | 254 | 169 | 216 | 117 | 180 | 90 | 100 | 80 | 310 [M12 x30] 50 | 25 7 x4 75 [ 38 | 10x4.5 | 34
120 | 130 [371 219 | 282 [ 190 | 256 | 124 | 220 | 100 | 120 | 95 | 370 |M14 x32| 65 | 30 7 x4 85 | 45 | 12x4.5 | 51
135 | 1,40 [422 [249 [ 317 [ 210 | 296 | 147 | 260 | 110 | 135 | 105 | 425 [M16 x35] 75 | 35 | 10x4.5 | 95 | 55 | _ 16 x6 78
155 | 1/50 |[497 | 295 | 382 | 252 | 345 | 185 | 280 | 120 | 155 | 103 | 461 |M16 x35| 85 | 40 | 12x5 | 110 | 60 | 18 x7 102
175 | 1/60 | 534 [ 314 | 372 [ 255 | 374 | 192 [ 320 | 140 | 175 | 123 | 521 [M16 x35] 85 | 45 | 14x5.5 | 110 | 65 | 18 x7 142
200 580 | 342 | 456 | 319 | 412 | 230 | 360 | 150 | 200 | 130 | 575 |[M20 x36] 95 | 50 | 14 x5.5 | 125 | 70 | 20x7.5 | 202
250 705 | 420 | 552 | 385 1500 | 285 | 420 | 190 | 250 | 150 | 700 [M24 x42 ] 110 | 60 |18 x7 1155 | 90 |_ 25 x9 340
B
I e .
. BC
o <o
RAE) 4 B,
el
5; E!‘i
&
A B c A E ‘ ; ‘
oo oW # | H 4 . E ‘
AT
A A A AN A
) A1t ikl Fh
Mgl A |AB| B |BB|AC|Bc|cc |HL| L | H | M| N|E|F |G|z ar
BT HS | U [TxV ]| 1S | s [wxy|(ke)
40 143 | 87 | 114 | 74 | 95 | 61 | 40 | 45 | 60 | 135 | 100 | 130 | 80 | 110 | 10 | 10 | 25 | 12 |4x2.5] 28 | 14 | 5x3 | 4.5
50 175 1108 [ 150 | 97 | 111 ] 68 | 50 | 50 | 80 [ 165 | 120 [ 140 | 95 [ 110 | 15 | 12 | 30 | 12 |4 x2.5] 40 | 17 | 5x3 | 7.5
60 |1/10 198 [ 120 [ 168 [ 112 [ 127 | 76 | 60 | 60 | 93 | 195 [ 130 | 150 | 105 | 120 | 18 | 12 | 40 | 15 | 5x3 | 50 | 22 | 7 x4 [11.5
70 |1/15[231 | 140 | 194 [ 131 | 152 | 86 | 70 | 73 | 108 | 233 | 150 | 190 | 115 | 150 | 18 | 15 | 40 | 18 | 5x3 | 60 | 28 | 7 x4 |15.5
80 |1/20 [ 261 [ 160 | 214 [ 142 [ 169 | 102 | 80 | 83 | 123 | 268 | 170 | 220 | 135 [ 180 | 18 | 15 | 50 | 22 | 7x4 | 65 | 32 [10x45] 24
100 |1/25 (322 | 190 | 254 | 169 | 216 | 117 | 100 | 100 | 150 | 330 | 190 | 270 | 155 [ 220 | 20 | 15 | 50 | 25 | 7x4 | 75 | 38 | 10x4.5] 39
120 1,30 [ 371 | 219 | 282 | 190 | 256 | 124 | 120 | 120 | 180 | 395 | 230 | 320 | 180 | 260 | 25 | 18 | 65 | 30 | 7x4 | 85 | 45 |12x4.5| 57
135 | 1/40 [ 422 [ 249 | 317 | 210 | 296 | 147 | 135 | 135 | 215 | 455 | 250 | 350 | 200 | 290 | 30 | 18 | 75 | 35 |10x4.5] 95 | 55 |16 x6 | 85
155 | 1/50 [497 [ 295 | 382 | 252 | 345 | 185 | 155 | 135 | 235 | 493 | 280 | 380 | 220 | 320 | 32 | 21 | 85 | 40 |12 x5 [ 110 | 60 |18 x7 | 110
175 | 1/60 | 534 | 314 | 373 | 255 | 374 | 192 | 175 | 160 | 260 | 558 | 310 | 410 | 250 | 350 | 37 | 21 | 85 | 45 |14x5.5| 110 | 65 |18 x7 | 152
200 580 [ 342 | 456 | 310 | 412 | 230 | 200 | 175 | 290 | 620 | 355 | 445 | 200 | 390 | 45 | 24 | 95 | 50 | 14x5.5] 125 | 70 [20x7.5 | 216
250 705 | 420 | 552 | 385 | 500 | 285 | 250 | 200 | 350 | 750 | 460 | 560 | 380 | 480 | 50 | 28 | 110 | 60 | 18 x7 | 155 | 90 |25 x9 | 350
- 323 -




N B

WPWX

Il B

s b oaz
WPWX#h4§ 8] R~ WPWO#i#5 a1 &R EI —
—dak-
A B C A B (] D E F
NI Me | il | wm | sl
N IPN
RN i 5 R O == 3 O e . A M
w (] w w Al w ] w
T VNI I FR
A% || A | AB | BB | BC | CC| M | N | E|E | E |G| Z HT0 v Tis T % Wy | (k)
40 143 | 87 | 74 | 45 | 40 | 95 | 187 | 70 | 72 | 97 | 12 | 10 | 25 | 12 | 4x2.5 | 28 | 14 53 5
50 175 [ 108 | 97 | 50 | 50 | 111 [ 226 | 90 | 90 | 110 | 14 | 12 | 30 | 12 | 4x2.5 | 40 | 17 5x3 8
60 | 1/10 [198 [ 120 | 112 | 55 | 60 | 127 | 257 | 100 | 102 | 129 | 15 | 12 | 40 | 15 5 x3 50 | 22 7 x4 11

70 1715 | 231 [ 140 | 131 | 65 | 70 | 152 | 305 | 120 | 120 | 155 | 20 | 15 | 40 18 5x3 60 | 28 7 x4 15.5
80 1720 | 261 | 160 | 142 | 70 | 80 | 174 | 350 | 140 | 140 | 180 | 20 | 15 | 50 | 22 7 x4 65 | 32 10 x4.5 24
100 1725 | 322 | 190 | 169 | 90 | 100 | 224 | 410 | 190 | 165 | 215 | 22 15 | 50 | 25 7 x4 75 | 38 10 x4.5 38
120 1730 | 371 | 219 | 190 | 100 | 120 | 264 | 494 | 220 | 195 | 255 | 25 18 | 65 | 30 7 x4 85 | 45 12 x4.5 56
135 1740 | 422 | 249 | 210 | 110 | 135 | 304 | 559 | 260 | 230 | 285 | 30 18 | 75 | 35 10 x4.5 95 | 55 16 x6 84
155 1/50 [ 497 | 295 | 252 | 140 | 155 | 345 | 605 | 290 | 250 | 305 | 35 | 21 85 | 40 12 x5 110 | 60 18 x7 129
175 1/60 | 534 | 314 | 255 | 150 | 175 | 374 | 675 | 320 | 273 | 348 | 40 | 21 85 | 45 14 x5.5 | 110 | 65 18 x7 157
200 580 | 342 | 319 | 175 | 200 | 424 | 749 | 370 | 305 | 390 | 40 | 24 | 95 | 50 14 x5.5 | 125 | 70 20 x7.5 224
250 705 | 420 | 385 | 200 | 250 | 510 | 920 | 440 | 375 [ 475 | 45 | 28 | 110 | 60 18 x7 155 | 90 25 x9 374

WPWV

AB AB

WPWVif $5 5] 3k 7~ WPW T 38 [ 3k 7= L—"M
A B C A A N B N C N D N E
H tH Rt 1l il il il il

PR3 IS E I €N I A TS B S WP €310 QR <5 IR €318

)\U U)\ )\U H H R )\U tH )\LJ Wi

e T . : A J7%h 7% ER
RS W | AB BB CC LL M N E E, E, G Z s U TXV IS 3 WxY (kg)
40 87 74 40 63 90 187 70 72 97 12 10 25 12 4x2.5 28 14 5x%x3 5
50 108 97 50 70 120 | 226 95 90 110 14 12 30 12 4x2.5 40 17 5x3 8
60 1710 | 120 | 112 60 80 130 | 257 | 105 | 102 | 129 15 12 40 15 5x%x3 50 22 7 x4 11
70 1715 | 140 | 131 70 95 150 | 305 | 115 | 120 | 155 20 15 40 18 5x3 60 28 7 x4 15.5
80 1720 | 160 | 142 80 105 | 170 | 350 | 135 | 140 | 180 20 15 50 22 7 x4 65 32 10 x4.5 24
100 | 1/25 | 190 | 169 | 100 | 135 | 190 | 410 | 155 | 165 | 215 22 15 50 25 7 x4 75 38 10 x4.5 38
120 1730 | 219 | 190 | 120 | 160 | 230 | 494 | 180 | 195 | 255 25 18 65 30 7 x4 85 45 12 x4.5 56
135 | 1/40 [ 249 | 210 | 135 | 185 | 250 | 559 | 200 | 230 | 285 30 18 75 35 10 x4.5 95 55 16 x6 84
155 1/50 [ 295 | 252 | 155 | 220 | 275 | 605 | 220 | 250 | 305 35 21 85 40 12 x5 110 60 18 x7 129
175 | 1/60 | 314 | 255 | 175 | 240 | 310 | 675 | 250 | 273 | 348 40 21 85 45 14 x5.5 110 65 18 x7 157
200 342 | 319 | 200 | 290 | 360 | 749 | 290 | 305 | 390 40 24 95 50 14 x5.5 125 70 20x7.5 224
250 420 | 385 | 250 | 315 | 460 | 920 | 380 | 375 | 475 45 28 110 60 18 x7 155 90 25 x9 374

- 324 -

%



=% We e

>

WPWD AB
Q
I
; g
g e 3R o =
A B A E N F
tH H H ([ H H H
A A A A A A
T , : AL LSt
il (Kw) WL A [AB|BB|AC|BC|AD | BD | CCHL| H | ZxL o s iR 1z QU TxV [LS] S [WxY|(kg)
40 [0.12 135 75 | 74 |95 | 61 | 78 | 42 | 40 | 35 |125 | M6 x 12 |115] 95 [140] 4 | M8 |31 | 11 [4x12.8]28 | 14 | 5x3 | 4
50 | 0.18 151 |83 | 97 [111] 68 | 85 | 50 | 50 | 35 [ 150 | M6 x 18 [115] 95 [140| 4 | M8 | 31 | 11 [4x12.8]40 | 17 | 5x3 | 7
60 [0.37| | 1o 1167|791 [112[127 |76 [105|55 [ 60 [ 42 [177| M8 x20 [130| 110|160 4 [ M8 |33 | 14 |5 x16.3/50 [22 | 7x4 | i0
0.37 200109 130 | 110 ] 160 M8 | 40 | 14 |5 x16.3
70 FG55 | s BOBTITT]131[152|86 |125| 65 | 70 | 55 |215 |M10 %25 HESHIG ST 4 [nitor 49 19 feans 8] 60 | 28 | 7x4 | 14.5
0.75 48 [ 19 |6 x21.8
80 (021 | 5o 225125 142|169 102 [ 140 | 70 | 80 | 65 250 |M12 %28 |165 | 130|200 |4.5 |M10{-2513-0 X281 65 | 32 |10 x4.5] 23
100 5| [280] 148169 216 117|180 | 90 |100| 80 |310 [MI2x30|165 130|200 4.5 [MI0| 52 | 24 |8 %27.3[ 75 | 38 |10 x4.5[36.5
120 |-%:2 Lo |333]181 190|256 | 124220 /100|120 | 95 |370 |14 x32 215 180|250 | 5 |MI2| 63 | 28 |8 x31.3| 85 | 45 |12 x4.5| 54
135 -0 Lo |375]202 1210|296 | 147|260 | 110 135 | 105 | 425 |M16 x35{215 | 180 (250 | 5 |M12| 63 | 28 |8 x31.3| 95 | 55 | 16x6 | 83
55 5.5 | |, [448[247 [252 345|185 280|120 155 | 103 [461 [M16 35265230300 | 5 |MI2| 83 | 38 [10x4L3 [110] 60 | 187 | 110
175 32 481|262 |255 |374 [192 {320 | 140 | 175 | 123 | 521 [M16 x35|265 [230|300 | 5 |M12| 83 | 38 [10x41.3 |110| 65 | 18 x7 | 156
300 | 11.0 ] /0 [543 285 (319 412 (230360 | 150 200 | 130 | 575 | M20 x 36 | 300 | 250 350 | 6 |Mi6| 114 | 42 | 12x45.3 [125] 70 |20 x7.5] 222
250 (30 615 330 | 385 | 500 | 285 [420 | 190 | 250 | 150 | 700 | M24 x 42 |300 |250 |350 | 6 [M16]114 | 42 |[12x45.3|155| 90 | 25 x9 | 376
038 0
A
tH
A
PE A . A ae . AL A4l AL i
2 ~
5 (K| | A [ AB | BBACIBCICCTHL I LL ] H M N B F G2 TR L2 Q [ U] TxV 1SS | WxY |(k)
40 [0.12 135] 75 | 74 | 95 | 61 | 40 | 45 | 60 | 135|100 130 80 [110] 10 | 10 [115]95 [140] 4 [M8|31 |11 [4x12.8]28 | 14| 5x3 |5
50 0. 18 15183 | 97 [111] 68 | 50 | 50 | 80 [ 165|120 [140] 95 [110] 15 | 12 |115]95 [140] 4 [M8|31 | 11 |4 x12.8]40 | 17| 5x3 | 8
60 10.37| , ([167] 791 [112]127] 76 |60 [ 60 |93 [195 130150 105 120 18 | 12 [130[110[160| 4 [M8[33 [14[5x16.3[50 22| 7 x4 |I2.5
0.37/"/10[200 [109 130[110]160] , [M8]40 |14 |5 x16.3
70 554 s 201111131 [152| 86 | 70 | 73 | 108|233 |150 190 | 115|150 | 18 | 15 |135HG5001 4 iior4a {10 fo o] 60 |28 | 7x4 |17
80 %1/20 225125 [142 169 | 102 | 80 | 83 | 123 [268 | 170 |220 [135| 180 | 18 | 15 |165]130|200[4.5[M10 ‘S‘g 19 gi%g 65|32 [10 x4.5(26
100[ 1.5 280148169 216|117 100|100 | 150|330 190|270 | 155|220 20 | 15 [165|130/200/4. 5|MI0[ 52 24 |8 x27.3| 75 | 38 [10 4. S 4I.S
120 %1/30 333|181 (190 |256 | 124 | 120 | 120 | 180|395 | 230 |320 | 180 | 260 | 25 | 18 |215]180[250| 5 |[M1263 |28 |8 x31.3 |85 |45 |12 x4.5| 60
135 (3-0 La0|375 202|210 296 | 147 | 135 | 135 | 215|455 250 350|200 290| 30 | 18 [215/180[250| 5 [M12] 63 |28 |8 x31.3]95 |55 | 16x6 |90
155 5.5 [ 448 [247 257 [345 | 185 | 155 | 135 |235 [403 [280 [380 [220 [320 | 32 | 21 [265[230/300] 5 |M12] 83 | 38| 10413 [110] 60 | 18 7 [I18
175 12-3 7" 1481 | 262 | 255 | 374 192 | 175 | 160 | 260 | 558 |310 {410 | 250 {350 | 37 | 21 [265[230|300| 5 |M12|83 |38 | 10x41.3 [110] 65 | 18 x7 |167
500 [i1.0]"/%0[543 (285 310 | 412 [ 230 | 200 | 175 | 290 | 620 | 355 |445 [ 290 | 390 | 45 | 24 [300]250(350] 6 |MI6|114|42 | 12x45.3 [125|70 |20 x 7.5 257
250 (=81 [615|330 |385| 500 | 285|250 |200 350 | 750 | 460 560 380 [480 | 50 | 28 [300(250(350| 6 [M16|114|42 | 12x45.3 (15590 | 25 x9 |395

- 325 -

0



WP s % A 3R A0

WPWDX

A B (o]
A WA
H H H
TR ; AT Yt T T
B 'Ky |fH| A |AB|BBIBCICCIM | N | E BB | G\ Z s T eTRTZ] 0 T U | TxV (IS ][S | WxY | (k)
30 0.2 13575 |74 |45 |40 |95 [187]770 |72 |97 |12 |10 [115]95 [140] 4 [M8| 31 | 11 | 4x12.8 | 28 | 14 | 5x3 | 5.4
50 [ 018 151183 [97 50 |50 [111]226/90 [90 [110] 14 [12 11595 [140] 4 [M8| 31 | 11 | 4x12.8 | 40 | 17 | 5x3 | 8.5
60 [ 037 ] |0 6719111255 60 [127]257100[102]129] 15 [12 [130[110[160] 4 [MS| 33 | 14 | 5x16.3 | 50 | 22 | 74 2
0.37 200[109 130[110[160] , [MS| 40 | 14 | 5x16.3
0 03 |15 Boslioa|i31] 65 |70 [152}30s[120)120]155) 20 15 [REITIEE 4 [MEEEE22002 60 [ 28 | 7xa | 17
0.75 48 19 | 6x20.8
80 FODf 0 [225/125]142| 70 | 80 [174[350[140]140]180| 20 | 15 [165 130|200 4. 5| wio (25119 L OXLE {65 | 3 [ 105 | 26
100 | .5 |, [0[148]169]90 [100/224/4T0/1901165[215| 22 [ 15 [165[130/200/4. 5IMI0f 52 | 24 | 8x27.3 | 75 | 38 | 10x4.5 | 40.5
120 (22 e [33[181]190]100|120|264{94]220195 255 25 | 18 [215)180[250] 5 |Mi2) 63 | 28 | 8x31.3 | 85 | 45 | 12x4.5 | 59
135 (501 [375202{210[110]135[304 559|260 230{285| 30 | 18 [215/180[250| 5 [Mi2| 63 | 28 | 8x31.3 | 95 | 55 | 16x6 | 89
55 | 5.5 | | |388]247]2S2[140]T55 545]605 290 /250305 35 | 21 [265(230/300] 5 [NI2| 83 | 38 | 8x4L.3 100 | 60 | 18x7 | 138
175 323 481(262[255150(175[374/675|320[273(348| 40 |21 65[230[300| 5 [Mi2| 83 | 38 |10x41.3| 110 | 65 | 18x7 | 172
300 | 110 | /%0 [5431285(319]175200(424[749370[305 390 40 | 21 [300250(350] 6 [Mi6| 114 | 42 |12 x45.3 | 125 | 70 | 20 x7.5 | 246
250 (HLO 615[330385(200[250(510(920(440 375|475 | 45 | 28 [300[250[350| 6 |M16| 114 |Mi642| 12 x45.3 [ 155 | 90 | 25x9 | 410

cc

E A )\18 f C e D x E i A " B:\L[ " Cc
] H W ';; E ; W J‘%g %;_L, Ag
— T : AL STE) BT T
BE | (Kw) [P AC|BBICCILL M| N E VBB | G 2 g T eTie (2] 0 T U L TxV (IS S | WxY | (ke)
0 [0.12 75 [ 74 [ 40 [ 63 |90 (18770 | 72 [ 97 | 12 | 10 [115]95 [140] 4 [MS| 31 | 11 |4 x12.8 [ 28 | 14 | 5x3 | 5.4
50 [ 0.18 83 [97 [ 50 [ 70 [120]226]95 |90 [110] 14 | 12 [115]95 [140] 4 [MS| 31 | 11 | 4x12.8 | 40 | 17 | 5x3 | 8.5
60 [ 037 |, |91 ]112[60 80 [130[257]105102[129] 15 | 12 [130]110[160] 4 [M8| 33 | 14 | 5x16.3 | 50 |22 | 7x4 | 12
037 109 130[110[160] , [MS| 40 | 14 | 5 x16.3
0 g3 s [11]131] 70 |95 [150|305 115|120 ]155 ) 20 | 15 [REERER 4 B0 ig [ aaar s 60 | 28 | Tx4 | 17
075 48 19 [ 6x21.8
go (0Dt 0 [125)142] 80 [105]170|350 135] 140{180| 20 | 15 |165(130[20004. 5|0 |25 13 6XIL8 165 [ 3y | 105 | 26
100 [ 15| | [148[169 100135 190410155 (165 (215 22 | 15 (163 130/2004.5[Ni0[ 52 | 24 | 8 x27.3 | 75 | 38 | 10x4.5 | 40.5
120 22 s [181[190[120]160]230 494 180 105 255 25 | 18 [215180/250| 5 |Miz] 63 | 28 | 8x31.3 | 85 | 45 | 12x4.5 | 59
135 (-0t 1202 |210{135|185 250|559 [200| 230|285 | 30 | 18 [215/180[250| 5 [Mi2| 63 | 28 | §x31.3 | 95 | 55 | 16x6 | 89
55 | 5.5 | . [297]252155(220(275 (605|220 (250 305| 35 | 21 [263(230/300] 5 [NI2| 83 | 38 | 8x4L.3 (110 | 60 | 187 | 138
175 323 262 255175 |240(310|675 |250 [273 348 | 40 | 21 |265[230(300| 5 [M12| 83 | 38 |10x41.3 110 | 65 | 18x7 | 172
300 | 110 | /%0 [385(319]200280 360749 290|305 390 40 | 24 [300|250/350] 6 |Mi6| 114 | 42 |12 x45.3 | 125 | 70 | 20 x7.5 | 246
250 HLO 330 (385 (250315460920 380 [375 475 | 45 | 28 [300[250(350| 6 [Mi6| 114 | 42 | 12x45.3 | 155 | 90 | 25x9 | 400

- 326 - $



WP s % A 3R A

18 [8) R R
A
FLIWH FLWH
A
A 1% H %l =
e | @k | A | AB| B | AC| BC | AD | BD | CC | HL | H ZxL iifﬂ
HS | U TxV s W x Y (kg)
40 143 | 87 | 8 | 95 | 61 | 78 | 42 | 40 | 35 | 125 [ M6x12 | 25 | 12 4%2.5 16 6x18.8 4
50 175 | 108 [ 105 [ 111 | 68 | 85 | 50 | 50 | 35 | 150 | M6 x18 | 30 | 12 4x2.5 20 6x22.5 6.5
60 110 [ 198 [ 120 [ 110 [ 127 | 76 | 105 | 55 | 60 | 42 | 177 | M8 x20 | 40 | 15 5 x3 25 8 x28.3 9
70 1715 [231 | 140 [ 130 [ 152 | 86 | 125 | 65 | 70 | 55 | 215 |[MI0x25]| 40 | 18 5x3 30 8 x33.3 13
30 1720 [261 | 160 | 150 [ 169 | 102 | 140 | 70 | 80 | 65 | 250 |MI2 x28] 50 | 22 7 x4 35 10 x38.3 21
100 1,25 [322 1190 [ 160 | 216 | 117 [ 180 | 90 | 100 | 80 | 310 |MI12x30] 50 | 25 7 x4 40 12 x43.3 34
120 1730 [371 | 219 [ 175 | 256 | 124 | 220 | 100 | 120 | 95 | 370 |M14 x32]| 65 | 30 7 x4 45 14 x48.8 51
135 1740 [ 422 [249 | 210 [ 296 | 147 | 260 | 110 | 135 | 105 | 425 [M16 x35| 75 | 35 | 10 x4.5 60 18 x64.4 78
155 1/50 | 497 | 295 | 256 | 345 | 185 | 280 | 120 | 155 | 103 | 461 |M16 x35]| 85 | 40 12 x5 70 20 x74.9 102
175 1,60 | 514 | 314 | 282 | 374 | 192 | 320 | 140 | 175 | 123 | 521 |[M16 x35] 85 | 45 | 14 x5.5 80 22 x85.4 142
200 580 | 342 | 320 | 412 | 230 | 360 | 150 | 200 | 130 | 575 |[M20 x36] 95 | 50 | 14 x5.5 85 22 x90.4 202
250 705 | 420 | 400 | 500 | 285 | 420 | 190 | 250 | 150 | 700 |M24 x42] 110 | 60 18 x7 110 28 x116.4 | 340
Ig B R =
A B
£~
FLIH | AL
A
L I8 =
I || A |AB| B |AC|BC|CC|HL|LL|H | M| N|E|F |G| Z ii(i
HS | U TxV s wxy |(k&)
40 143 [ 87 | 85 [ 95 | 61 | 40 | 45 | 60 | 135|100 [130 | 80 [110 ] 10 | 10 | 25 | 12 | 4x2.5 16 | 6x18.8 |4.5
50 175 [108 [ 105 [ 111 | 68 | 50 | 50 | 80 | 165 | 120 | 140 | 95 [ 110 ] 15 | 12 | 30 | 12 | 4x2.5 20 | 6x22.8 |7.5
60 |1/10 198 [120 [ 110 [127 | 76 | 60 | 60 | 93 [195 | 130 [ 150 | 105 [ 120 | 18 | 12 | 40 | 15 5x3 25 | 8x28.3 [11.5
70 | 1/15 (231 [ 140 [ 130 [ 152 | 86 | 70 | 73 [ 108 [ 233 [ 150 | 190 | 115 | 150 | 18 | 15 | 40 | 18 5 x3 30 | 8x33.3 [15.5
80 | 1,20 [261 [ 160 | 150 [ 169 [ 102 | 80 | 83 [ 123 [ 268 | 170 [ 220 | 135 | 180 | 18 | 15 | 50 | 22 7 x4 35 | 10x38.3 | 24
100 | 1,25 [322 [ 190 | 160 | 216 | 117 | 100 | 100 | 150 [ 330 | 190 | 270 | 155 | 220 | 20 | 15 | 50 | 25 7 x4 40 | 12x43.3 | 39
120 | 1730 [ 371 [ 219 [ 175 [ 256 | 124 [ 120 [ 120 | 180 | 395 [ 230 | 320 | 180 [ 260 | 25 | 18 | 65 | 30 7 x4 45 | 14x48.8 | 57
135 | 1/40 [ 422 | 249 [ 210 | 296 | 147 | 135 | 135 | 215 | 455 | 250 [ 350 | 200 [ 290 | 30 | 18 | 75 | 35 | 10x4.5 | 60 | 18 x64.4 | 85
155 | 1,50 [497 [ 295 | 256 | 345 | 185 | 155 | 135 | 235 | 493 | 280 | 380 | 220 [ 320 | 32 | 21 | 85 | 40 12 x5 70 | 20x74.9 | 110
175 | 1/60 [ 534 | 314 | 282 | 374 | 192 | 175 | 160 | 260 | 558 | 310 | 410 | 250 | 350 | 37 | 21 | 85 | 45 | 14x5.5 | 80 | 22 x85.4 | 152
200 580 | 342 [ 320 | 412 [ 230 [ 200 | 175 [ 290 | 620 | 355 | 445 [ 390 [ 390 | 45 | 24 | 95 | 50 | 14x5.5 | 85 | 22x90.4 |216
250 705 | 420 | 400 | 500 | 285 | 250 | 200 | 350 | 750 | 460 | 560 | 380 | 480 | 50 | 28 | 110 | 60 18 x7 110 | 28 x116.4 | 350
- 327 -




WP s % A 3R A0

WPWKO

AJith HH T
U2 | e A AB B BC CC M N E E E G VA
EEE ! 2 HS [ U TxV S wxy | (kg
40 143 87 85 45 40 95 187 70 72 97 12 10 25 12 4x2.5 16 6x18.8 5
50 175 108 | 105 50 50 111 226 90 90 110 14 12 30 12 4x2.5 20 6x22.8 8
60 1/10 198 | 120 | 110 55 60 127 | 257 | 100 | 102 | 129 15 12 40 15 5x%x3 25 8 x28.3 11
70 1/15 231 140 | 130 65 70 152 | 305 | 120 | 120 | 155 20 15 40 18 5x3 30 8 x33.3 15.5
80 1/20 261 160 | 150 70 80 174 | 350 | 140 | 140 | 180 20 15 50 22 7 x4 35 10 x38.3 24
100 1/25 322 |1 190 | 160 90 100 | 224 | 410 | 190 | 165 | 215 22 15 50 25 7 x4 40 12 x43.3 38
120 1/30 371 | 219 | 175 100 | 120 | 264 | 494 | 220 | 195 | 255 25 18 65 30 7 x4 45 14 x48.8 56
135 1/40 422 | 249 | 210 | 110 | 135 | 304 | 559 | 260 | 230 | 285 30 18 75 | 35 10 x4.5 60 18 x64.4 84
155 1/50 497 | 295 | 256 | 140 | 155 | 345 | 605 | 290 | 250 | 305 35 21 85 40 12 x5 70 20 x74.9 129
175 1/60 534 | 314 | 282 | 150 | 175 | 374 | 675 | 320 | 273 | 348 40 21 85 | 45 14 x5.5 80 22 x85.4 157
200 580 | 342 | 320 | 175 | 200 | 424 | 749 | 370 | 305 | 390 40 24 95 50 14 x5.5 85 22 x90.4 224
250 705 |1 420 | 400 | 200 | 250 | 510 | 920 | 440 | 375 | 475 45 28 1110 ] 60 18 x7 110 | 28 x116.4 374
| B AB AB
[@____¢FT
3 3
_ ,(\ m
i
-
RO B 0 = ]EH a
e 1o
TN —_—
A B A % R
A A A L9 E
N N M
AR )\U )\LI
. ) . NL DAL i
=) o
RS2 Wk L | AB B CC LL M N E E, E, G Z s U TXV S W x Y (kg)
40 87 85 40 63 90 187 70 72 97 12 10 25 12 4 x2.5 16 6x18.8 5
50 108 105 50 70 120 | 226 95 90 110 14 12 30 | 12 4 x2.5 20 6x22.8 8
60 1/10 120 110 60 80 130 257 105 102 129 15 12 40 15 5x%x3 25 8 x28.3 11
70 1/15 140 130 70 95 150 | 305 115 120 155 20 15 40 | 18 5x%x3 30 8 x33.3 15.5
80 1/20 160 150 80 105 170 350 135 140 180 20 15 50 | 22 7 x4 35 10 x38.3 24
100 1/25 190 160 100 135 190 | 410 155 165 | 215 22 15 50 | 25 7 x4 40 12 x43.3 38
120 1/30 219 175 120 160 230 494 180 195 255 25 18 65 30 7 x4 45 14 x48.8 56
135 1/40 249 | 210 135 185 | 250 | 559 | 200 | 230 | 285 30 18 75 | 35 10 x4.5 60 18 x64.4 84
155 1/50 295 256 155 220 275 605 220 250 305 35 21 85 40 12 x5 70 20 x74.9 129
175 1/60 314 | 282 175 | 240 | 310 | 675 | 250 | 273 | 348 40 21 85 | 45 14 x5.5 80 | 22 x85.4 157
200 342 320 200 280 360 749 290 305 390 40 24 95 50 14 x5.5 85 22 x90.4 224
250 420 | 400 | 250 | 315 | 460 | 920 | 380 | 375 | 475 45 28 110 | 60 18 x7 110 | 28 x116.4 374
- 328 -

%




=% We e

ﬂj (6]
==| 3|3
=

15 | /R ..
A X B
i ALY 1 LW
A PN \8-ZX<X L
g AR H AL 22 AL H % Hi
W5 | s | A |AB| B |AC|BC|AD | BD | cC | HL| H | ZxL b e T Tz T 0 T 0 Lty TS T Wy | (he)
40 [0.12 13575 | 85 | 95 | 61 | 78 | 42 | 40 | 35 |125| M6 x12 | 115195 [140] 4 | M8 |31 | 11 [4x12.8] 16 |6x18.8] 4
50 [0.18 15183 [105 [ 111 68 |85 |50 | 50 | 35 |150| M6 x 18 |115] 95 [140] 4 | M8 | 31 | 11 |4 x12.8]20 [6x22.8] 7
60 | 0.37 167 | 91 [110]127] 76 [105] 55 | 60 | 42 177 M8 x20 | 130|110 |160| 4 | M8 | 33 | 14 |5 x16.3 | 25 |8 x28.3 | 10
0.37 200109 130 [ 110 [ 160 M8 | 40 | 14 |5 x16.3
70 =31 SO 130 152 | 86 |125| 65 | 70 | 55 |215 | M10 x25 204000 4 B0 18 30631 30 1584333 | 14.5
80 01'755 %?i? 225125 150 [169 | 102 | 140 | 70 | 80 | 65 |250 | M12 x28|165 | 130 [200 | 4.5 |M10 ;‘g 2 gigg 35 10 x38.3| 23
100 | 1.5 | 1/20 [280 148 160|216 | 117|180 90 |100| 80 |310 |MI2 x30 165 | 130 |200 |4.5 [MI10] 52 | 24 |8 x27.3 | 40 |12 x43.3] 36.5
120 %3 %(5) 333 | 181|175 |256 | 124|220 [ 100 | 120 | 95 |370 |M14 x32|215 |180 250 | 5 [M12| 63 | 28 |8 x31.3 | 45 |14 x48.8| 54
135 [0 }j‘s‘g 375202 210|296 | 147 |260 | 110 | 135 | 105 |425 | M16 x 35| 215 | 180 [250 | 5 [M12] 63 | 28 |8 x31.3 | 60 |18 x64.4| 83
155 | 5.5 | 1/60 [448 247256 345 | 185|280 |120 | 155 | 103 |461 | M16 x 35265 | 230 |300 | 5 |Mi2| 83 | 38 |10 x41.3] 70 |20 x 74.9] 110
175 gg 481|262 282374192320 | 140 | 175 | 123 |521 |M16 x35 | 265 [230 (300 | 5 |[M12| 83 | 38 |10 x41.3| 80 [22 x85.4| 156
200 | 11.0 543 [285 [320 |412 | 230 | 360 | 150 | 200 | 130 | 575 | M20 x 36300 | 250 |350 | 6 _|M16]114 | 42 |12 x45.3] 85 [22 x90.4] 222
250 0 615|330 400 | 500 | 285 |420 | 190 | 250 | 150 | 700 | M24 x 42300 | 250 [350 | 6 |M16|114 | 42 |12 x45.3|110 |28 x116.4| 376
A
AB
WPWDKA WPWDKS ' a
AC J
N Qé:) g 8
I ] e —1 8|3
’ \Oﬁ‘LE
o NN\
e &t
e o/
Al A Pﬂ B .
TR ﬁ L ¥ in—
= s F ! i
B A e
g AT . e AL 2 AL o [
BS k| | A [AB| B |AC|BCICCHLILLTH M N E | F G2 e TR (12 0 [ U] TxV [ S | WxY |(ke)
40 [0.12 135] 75 | 85 | 95 | 61 |40 | 45 | 60 |135]100]130] 80 |110] 10 | 10 [115] 95 [140] 4 | M8 |31 | 11 [4x12.8] 16 |6 x18.8] 5
50 [0.18 15183 [105 111168 |50 | 50 | 80 [165]120[140] 95 [110] 15 | 12 [115] 95 [140| 4 | M8 | 31 | 11 |4 x12.8 20 |6 x22.8 | 8
60 10.37 167] 91 [110]127] 76 | 60 | 60 |93 [195]130]150105[120] 18 | 12 [ 130|110 160 4 | M8 | 33 | 14 |5 x16.3 | 25 |8 x28.3 J12.5
0.37 200109 130110 | 160 M8 |40 | 14 |5 x16.3
70 (031 S 0130 {152| 86 | 70 | 73 |108[233{150 190 |115|150 | 18 | 15 (2IHI060) 4 |8 A0 3 3 xJ6 31 50 [ x33.3 | 17
0.75]1/10 48 |19 [6x21.8
80 [%-2211712|225] 125150 |169 102 | 80 | 83 |123 |268 170|220{135 180 | 18 | 15 | 165|130 |200 [4.5 |M10[-4510 18X B4 35 110 1 38.3] 26
100 [ 1.5 ]1/20[280 148 160216 | 117100100 | 150330 190|270 | 155|220 20 | 15 | 165|130 |200 |4.5 [MI10| 52 | 24 |8 x27.3 | 40 |12 x43.3/41.5
120 32 }gg 333|181 (175|256 124120 [120 | 180{395 [230 320|180 [260 | 25 | 18 [215[180 (250 | 5 |M12| 63 | 28 |8 x31.3 | 45 |14 x48.8| 60
135 13- {75‘8 375(202 210 |296 | 147|135 | 135|215 (455 [250 |350 (200 290 | 30 | 18 |215]180 (250 | 5 |M12| 63 | 28 |8 x31.3 | 60 |18 x64.4| 90
155 5.5 |1,/60|448 247256 |345 | 185 | 155 | 135 |235 493|280 |380 220320 | 32 | 21 [265 230 1300 5 |M12] 83 | 38 |10 x41.3] 70 |20 x74.9] 118
175 32 481 262|282 (374 192|175 160|260 558|310 410 [250 |350| 37 | 21 |265 230 [300| 5 |M12] 83 | 38 |10 x41.3| 80 [22 x85.4| 167
200 [11.0 543(285 320|412 230|200 | 175 |290 620|355 |445 [290 390 | 45 | 24 [300 | 250 |350 | 6 |M16|114 | 42 |12 x45.3] 85 |22 x90.4|237
250 {113 615330400 [500 | 285|250 200 [350 | 750|460 [560 |380 480 | 50 | 28 |300|250 [350 | 6 |M16|114 | 42 |12 x45.3|110 [28 x 116.4| 395

- 329 -

0



WP s % A 3R A0

1S [ RO~
A B

oo nl

Ang ARt
g | AR | H AL 22 AJifL %l o
BE |k | | A[AB]BBCCC M N E BB )G 2 e T e IE (12 0 [ U] TxV | S| WxY | (ke)
40 [0.12 13575 | 85 | 45 | 40 | 95 [187] 70 | 72 |97 | 12 | 10 [115]95 [140] 4 | M8 |31 | 11 [4x12.8 |16 |6x18.8] 5.4
50 [0.18 15183 [105]50 | 50 [ 1111226190 | 90 [110] 14 | 12 [115]95 [140] 4 | M8 | 31 | 11 |4 x12.8]20 |6x22.8] 8.5
60 | 0.37 167 [ 91 [110] 55 | 60 [127 257 [100 102 [129] 15 | 12 [ 130|110 160 4 | M8 |33 | 14 |5 x16.3 | 25 |8 x28.3 | 12

0.37 200 [109 130 [ 110 [ 160 M8 | 40 | 14 |5 x16.3
70 (331 200 19130 65 | 70 |152(305 120|120 155 | 20 | 15 (20I0LI000 4 (MBI A0 L3 3 x6. 20 50 155333 ] 17

075 1/10 48 19 [6 x21.8
80 431 1712 1225|125 (150 | 70 | 80 | 174350 140 {140 |180 | 20 | 15 |165 130 |200|4.5 |M10| 25191 0X2L.81 35 119 38.3| 26
100 | 1.5 | 1,20 [280 148|160 90 | 100|224 [410 | 190 | 165 |215 | 22 | 15 | 165 | 130 200 |4.5 [M10] 52 | 24 |8 x27.3 | 40 |12 x43.3] 40.5
120 %3 %(5) 333 | 181175 | 100 | 120 | 264 [494 |220 | 195 [255 | 25 | 18 215|180 (250 | 5 |M12| 63 | 28 |8 x31.3 | 45 |14 x48.8| 59
135 (-9 %j‘s‘g 375202 (210 | 110 | 135 | 304 [ 559 | 260 | 230 | 285 | 30 | 18 |215 180|250 5 [M12| 63 | 28 |8 x31.3 | 60 |18 x64.4| 89
155 | 5.5 | 1/60 [448 247|256 140|155 |345 605|290 |250 |305 | 35 | 21 |265 230|300 | 5 |Mi2| 83 | 38 |10 x41.3] 70 |20 x 74.9] 138
175 |33 481|262 282|150 | 175|374 | 675 |320 | 273 |348 | 40 | 21 |265[230 [300| 5 |M12] 83 | 38 |10 x41.3| 80 [22 x85.4| 172
200 [ 11.0 543 [285 [320 | 175 | 200 | 424 | 749 | 370 | 305 |390 | 40 | 24 [300 250|350 | 6 |M16]114 | 42 |12 x45.3] 85 [22 x90.4| 246
250 (-8 615 330|400 |200 | 250 | 510|920 |440 | 375 |475 | 45 | 28 |300 (250 |350| 6 |M16|114 | 42 |12 x45.3[110 [28 x116.4| 410

|

*“_1 I :1@:1 ]
_@, S | = | alg
DU i3 il e|le|l
o 3 ql /f = 4
s i /‘\ L
a] = v fﬁ —
- P L’ id ij 1 —
WPWDKTAH4 1367 WPWDKVAS 117 75 X%\ A
A B A B B—
= A 4 s LF’
oL || el | Jel -
ARk A At N N LL
g | ATE | SR . L 22 AL 1 %l Hi
ATk f [AC| B |CCILL M N E BB C) 2 g e IE[1Z] 0T U] TxV [ S [ WxY | (ko)
40 | o0.12 75 [ 85 [ 40 | 63 [ 90 | 18770 | 72 |97 | 12 | 10 |115]95 [140] 4 | M8 |31 [ 11 [4x12.8 | 16 |6x18.8] 5.4
50 | 0.18 83 110550 | 70 [120]226 95 [ 90 [110] 14 | 12 [115]95 [140] 4 | M8 |31 | 11 |4 x12.8 | 20 |6 x22.8 | 8.5
60 | 0.37 91 [110] 60 | 80 [130 257 105102129 | 15 | 12 [130 110 [160] 4 | M8 |33 | 14 |5 x16.3 | 25 |8 x28.3| 12
0.37 109 130 [ 110 [ 160 M8 | 40 | 14 |5 x16.3
0 31 194130 | 70 | 95 |150 305 | 115120155 | 20 | 15 HI0HASHO0 4 0 18 50063153 154333 | 17
075 | 1/10 48 |19 [6x21.8
80 (02— 1712 [125150| 80 |105 170|350 135|140 | 180 | 20 | 15 |165 130 |200 |4.5 1025108 XTL80 55 110 x38.3) 26
100 | 1.5 | 1/20 [148 160100 135|190 410155165 21522 | 15 | 165|130 200 4.5 [MI0| 52 | 24 |8 x 27.3 | 40 |12 x43.3] 40.5
120 %3 }gg 181175 | 120 | 160 | 230 [494 | 180 [ 195 |255 | 25 | 18 [215 180|250 | 5 |M12| 63 | 28 |8 x31.3 | 45 |14 x48.8| 59
135 -2 }j‘s*g 202 210|135 | 185|250 | 559|200 230|285 | 30 | 18 |215 180 (250 | 5 [M12| 63 | 28 |8 x31.3 | 60 |18 x64.4| 89
155 | 5.5 | 1/60 |2471256 155220275 605|220 250|305 | 35 | 21 265230300 5 |[MI2] 83 | 38 |10 x41.3] 70 |20 x74.9] 138
175 32 262|282 175|240 |310 | 675 | 250 | 273|348 | 40 | 21 |265 [230 [300| 5 |M12| 83 | 38 |10 x41.3| 80 [22 x85.4| 172
200 | 11.0 285 [320 | 200 | 280 | 360 | 749 | 290 | 305 | 390 | 40 | 24 |300 |250 |350| 6 |M16|114 | 42 |12 x45.3] 85 [22 x90.4| 246
250 9 330|400 | 250 [315 | 460 |920 [380 | 375 |475 | 45 | 28 |300 250 350 | 6 |M16|114 | 42 |12 x45.3[110 |28 x 116.4| 400
- 330 - o



WP s % A 3R A

WPKA . =
. AB
Y.
I z
K]
- 3 T . '
o . HS 2 oS /AT
1 o +
| @ L . A—— = . =
= g ; TXV
E v
35 B R R é — o[ .
B | —
! A B M N 4-6Z
E 7L
b4 s
H H
B A J1 Bl ot
=)
B G| A | AB | B | CC HL | M N E F Z ESTU TXV S W x Y (ke)
40 143 | 87 | 85 | 40 [ 138 | 40 | 90 [ 100 | 70 | 80 | 13 | 10 | 25 [ 12 4x2.5 16 | 6x18.8 5
50 175 1108 [ 105 | 50 [ 176 | 50 [ 120 | 140 | 95 [ 110 | 15 | 11 [ 30 [ 12 4x2.5 20 | 6x22.8 7.5
60 110 |198 [ 120 [110 [ 60 [ 204 | 60 [ 130 [ 150 | 105 | 120 [ 20 [ 11 [ 40 [ 15 5 %3 25 | 8x28.3 11
70 /15 | 231 1140 [ 130 [ 70 [ 236 [ 70 | 150 [ 190 [ 115 [ 150 | 20 [ 15 [ 40 | 18 5x3 30 | 8x33.3 15.5
80 1720 1261 [ 160 | 150 | 80 [ 268 | 80 [ 170 [ 220 [ 135 [ 180 [ 20 [ 15 | 50 | 22 7 x4 35 | 10x38.3 22
100 /25 1322 1190 [ 160 | 100 [ 336 [ 100 [ 190 [ 270 | 155 [ 220 [ 25 [ 15 [ 60 [ 25 7 x4 40 | 12 x43.3 36
120 /30 3711219 1175 [ 120 [ 430 | 120 [ 230 | 320 [ 180 [ 260 | 30 [ 18 [ 65 [ 30 7 x4 45 | 14 x48.8 62
135 Va0 |-422 1249 1210 [ 135 [ 480 | 135 [ 250 | 350 [ 200 [ 290 | 30 [ 18 |75 [ 35 | 10x4.5 | 60 | 18x64.4 80
147 /5o 1438 1262 [ 210 [ 147 [ 460 [ 123 [ 250 [ 350 [ 200 [ 280 | 32 | 18 [ 75 [ 35 | 10x4.5 [ 65 | 18x064.4 90
155 Vo |-297 1295 11256 | 155 [ 531 | 135 | 275 [ 390 | 220 [ 320 [ 35 | 20 [ 85 [ 40 12 x5 70 | 20 x74.9 114
175 534 | 314 [ 282 [ 175 | 600 | 160 | 310 | 430 | 250 | 350 | 40 | 20 [ 85 [ 45 | 14x5.5 | 80 | 22x85.4 150
200 580 | 342 [ 320 | 200 | 666 | 175 [ 360 | 480 [ 290 | 390 | 40 | 22 [ 95 [ 50 | 14x5.5 | 85 | 22x90.4 | 215
250 705 | 420 [ 400 | 250 | 800 | 200 | 460 | 560 | 380 | 480 | 45 | 28 [ 110 | 60 18 x7 110 [ 28 x116.4 | 360
Q
LG
LE
=3 — L'ﬂ(j
WTEH%H‘ - 2| 3
A B
7L kN
o n 4-0Z
H H
N EIR] L BLY = AJ4L Hh it Ho
iRz
=7 (Kw) 54 A JAB| B CCHH THL ) M N E | F 62 R TG [IE [12 QJU]] TxV [ S]] WxY | (k)
40 [0.12 135]75 [ 85 [ 40 138140 [ 90 [100] 70 [ 80 [ 13 [ 11 |[115]95 [140] 4 [ M8 |31 [ 11 | 4xI12.8 [ 16 [6x18.8] 5
50 [0.18 15183 [105]50 |176 | 50 [120 14095 [110[ 15 [ 11 [115]95 [140] 4 [ M8 [ 31 | 11 [4x12.8[20 [6x22.8| 8
60 |0.37 167 [ 91 [110] 60 204 [ 60 [130 [150 10512020 | 11 |[130[110[160[ 4 | M8 |33 | 14 [5x16.3 [ 25 [8x28.3] 10.5
0.37 200 [109 130 [110 160 M8 [ 40 [ 14 [5x16.3
0 575 502 1111130 70 [236| 70 {150 |190 | 115150 | 20 | 15 HesTi30 2001 4 Miiola2 119 o xal 830 [8%33-3| 17
0.75 48 119 [6x21.8
80 75 1,10 |225|125|150| 80 |268| 80 |170 220|135 |180 | 20 | 15 |165 [130 |200 |4.5 |MI0F55H g 57 31 35 |10%38.3| 25
100 | 1.5 | 1/15 [280[148 [160[100 |336 [100 [190[270 155 [220 | 25 | 15 |165 [130 [200 [4.5 |[M10| 52 | 24 [8 x27.3 | 40 [12 x43.3| 38
120 %g %(5) 333 181|175 [ 120 |430 | 120|230 [320 | 180 [260 | 30 | 18 {215 (180|250 | 5 |MI2| 63 | 28 |8 x31.3 | 45 |14 x48.8| 60
135 2'8 ifig 375|202 [210 | 135 |480 | 135|250 [350 | 200 [290 | 30 | 18 215|180 |250| 5 |MI12| 63 | 28 |8x31.3 | 60 |18 x64.4| 85
4.0 | 1/50 (425224 215[180(250 5 [MI12] 63 [ 28 [8 x31.3
155 =551 Ve [443 [247]256 | 155|531 135|275 390|220 |320 | 35 | 20 519301300 5 [MI2] 83 | 38 110 x41.3] /0 |20 x74.9| 120
175 gg 481 262|282 175 | 600 [ 160 |310 |430 [250 [350 | 40 | 20 |265 {230 [300| 5 |M12| 83 | 38 |10 x41.3| 80 [22 x85.4| 150
7.5 516|258 265 [230 [300 Mi2[ 83 [ 38 |10 x41.3
200 <770 543 (285 | 320|200 | 666 | 175|360 |480 290 390 | 40 | 22 (5055503501 © MI6I114 42 (12 x45 3] 85 [22x90.4| 218
250 L0 615|330 | 400 [ 250 | 800 | 200 | 460 | 560 | 380 |480 | 45 | 27 [300 250|350 | 6 |M16|114 | 42 |12x45.3 [110 |28 x116.4| 350
(\ M 331 *




WP s % A 3R A0

B A
. S
HS 2
— Y
T Xy ’ =
q
¢S 3
B
7l
»
H | 4-0Z
B A J7%h DAL Hig
Jl_l
WS | {3tk | A | AB| B | CC| H | IL | M N E F G Z METT TV S WY (ke)
40 143 | 87 | 85 | 40 | 141 | 60 | 90 [ 100 | 70 | 80 | 13 | 10 [ 25 | 12 | 4x2.5 16 | 6x18.8 4
50 175 | 108 | 105 | 50 | 180 | 80 | 120 | 140 | 75 | 110 | 15 | 11 |35 | 12 | 4x2.5 20 | 6x22.8 7
60 1/10 [ 198 [ 120 | 110 | 60 | 207 | 90 | 130 | 150 | 105 | 120 | 20 | 11 | 40 | 15 5 x3 25 | 8x28.3 | 10.5
70 1/15 [ 231 [ 140 | 130 | 70 | 238 | 105 | 150 | 190 | 115 | 150 | 25 | 15 | 40 | 18 5 x3 30 | 8x33.3 | 14.5
30 1/20 [ 261 | 160 | 150 | 80 | 270 | 120 | 170 | 220 | 135 | 180 | 25 | 15 | 50 | 22 7 x4 35 | 10 x38.3 22
100 | 1,25 [322 [ 190 | 160 | 100 | 331 | 150 | 190 | 260 | 155 | 220 | 25 | 15 | 60 | 25 7 x4 40 | 12x43.3 36
120 | 1/30 [371 [ 219 [ 175 | 120 | 423 | 180 | 230 | 320 | 180 | 260 | 30 | 18 | 65 | 30 7 x4 45 | 14 x48.8 63
135 | 1,40 [ 422 [ 249 [ 200 | 135 | 482 | 215 | 250 | 350 | 200 | 290 | 30 | 18 | 75 | 35 | 10x4.5 | 60 | 18 x64.4 80
155 | 1/50 | 497 | 295 | 256 | 155 | 495 | 235 | 280 | 390 | 220 | 320 | 38 | 20 | 85 | 40 12 x5 70 | 20x74.9 | 114
175 | 1/60 | 534 | 314 | 282 | 175 | 541 | 260 | 310 | 430 | 250 | 350 | 40 | 20 | 85 | 45 | 14x5.5 | 80 | 22 x85.4 | 150
200 580 | 342 | 320 | 200 | 594 | 290 | 360 | 480 | 290 | 390 | 42 | 22 [ 95 | 50 | 14x5.5 | 85 | 22x90.4 | 218
250 705 | 420 | 400 | 250 | 800 | 350 | 460 | 560 | 380 | 480 | 45 | 28 | 110 | 60 18 x7 110 | 28 x116.4_|_365
LG
LE:
Ble
< e
Higm &R R
! A B
7L 7
R X
H H
4-0Z
| AEE PE Y o
e (AR Sy gl g el ||| N|E|F|G| 2 ALk = AJIAL hvsh |
(Kw) | LA[LB|LC|LE|LZ| Q| U| TxV | S| wxY | (ke)
40 [0.12 135|175 | 85 | 40 [138] 60 [ 90 [100] 70 [ 80 | 13 | 10 [115] 95 [140| 4 | M8 |31 | 11 |4x12.8 |16 |[6x18.8| 5
50 |0.18 15183 [105]50 [180] 80 [120[140[ 95 [110] 15 | 11 [115]95 [140] 4 | M8 |31 | 11 [4x12.8 |20 |6x22.8| 8
60 |0.37 167 [ 91 [110] 60 [207] 90 [130 150 [105 [120] 20 | 11 [130[110[160] 4 [ M8 33 | 14 [5x16.3 | 25 |8 x28.3 | 10.5
0.37 200 [109 130 [110 [ 160 M8 [ 40 [ 14 [5x16.3
0 os Sop 11111130 | 70 238 105|150 190 | 115 150 | 20 | 15 (Hest35ta001 4 Mol 42 119 Texar g 30 |8%33:3| 17
0.75 48 119 [6x21.8
80 =12 110 |225]125]150| 80 |273 |120 170 {220 {135 |180 | 20 | 15 | 165|130 |200 4.5 MI0[sy—Hatasa7 31 35 [10x38.3| 25
100 | 1.5 | 1/15 [280]148 160 [ 100 [334 [150 [190 |270 155 |220] 25 | 15 165 [130 [200 |4.5 [M10| 52 | 24 |8 x27.3 | 40 [12 x43.3| 38
120 %g %(5’ 333 181|175 (120|423 | 180|230 [320 | 180 [260 | 30 | 18 |215|180 (250 | 5 |M12| 63 | 28 |8 x31.3 | 45 |14 x48.8| 60
135 2'8 iﬁg 375|202 (210|135 | 482 {215 [ 250 [350 | 200 {290 | 30 | 18 |215|180 (250 | 5 |M12| 63 | 28 |8 x31.3 | 60 |18 x64.4| 85
4.0 | 1/50 [425 (224 2151180250] 5 [MI12] 63 | 28 [8 x31.3
155 575 1veo (448247256 |155| 541|235 275|390 (220 320 | 35 | 20 (5153050013 Ml [ 83 138 110 x4l 3] 70 [20 x74.9| 120
175 gg 481|262 282|175 |600 | 260 | 310 |430 | 250 |350 | 40 | 20 |265 |230 |300| 5 |M12| 83 | 38 |10 x41.3| 80 [22 x85.4| 150
7.5 516 | 258 2651230 (300] 5 |MI12] 83 | 38 [10 x41.3
200 70 243 Ta35 1320|200 (677|290 360 |480 |290 |390 | 40 | 22 565550350 T & TMIe 1141 42 112 x45 3] 83 |22 %90.4| 218
250 %;-8 615 330|400 | 250 | 824 |350 |460 | 560 | 380 [480 | 45 | 27 |300 (250|350 | 6 |M16|114 | 42 |12 x45.3|110 |28 x116.4| 350
- 332 P




=% We e

WPZ

V(M o
[::]
<
WXY
[T IS
e A - 2
0 NIES — Ls
) II T
| E_ |
4-02 "
| BB
ANl H 714 i | M
JI:I |
5 Wl AB | LL | B [ BB | CC|E | E | F | G| M| N | Z 10 v T5TS | Wiy 1tke)| (L)
50 | 1/10 [ 108 | 77 | 150 | 97 | 50 | 53 | 77 | 100 | 15 | 125 | 160 | 11 | 30 | 12 | 4x2.5 | 40 | 17 | 5x3 7 0.4
60 1715 1120 | 82 [ 168 [ 112 | 60 | 68 | 92 | 100 | 15 [ 130 [ 190 | 11 | 40 | 15 5x3 50 | 22 7 x4 10 [ 0.5
70 }gg 140 | 95 | 194 | 131 | 70 | 75 | 115 | 120 | 20 | 155 | 230 | 15 | 40 | 18 | 5x3 | 60 | 28 | 7x4 | 15 | 0.6
80 | 50 [ 160 1100 [214 [142 [ 80 | 96 [ 144 [ 125 [ 20 [160 [265 [ 15 | 50 [ 22 | 7x4 |65 |32 [ 10x4.5 [ 20 | I.1
100 | 140 | 190 [ 135 [ 254 [ 169 | 100 | 100 | 150 | 155 [ 22 | 196 [ 310 | 15 | 50 [ 25 | 7x4 |75 [ 38 [ 10x4.5 | 35 | 1.5
120 | 150 [ 219 [ 160 [ 282 | 190 | 120 | 120 | 180 | 180 | 28 | 230 | 360 | 18 | 65 | 30 | 7x4 | 85 | 45 | 12x4.5 | 60 | 4
135 | 1/60 | 249 [ 170 | 317 | 210 | 135 | 130 | 200 | 200 | 30 | 250 | 410 | 18 | 75 | 35 | 10x4.5 | 95 | 55 | 16x6 | 80 | 5.2
¢
 S— —
5 :
[¢]
4-92/ ’
1
) AT Hi 77l | i
TS | ek AB | LL B cc | E E F G M N VA = 2
MG | Bkl ! 2 Hs | u | Txv s wxy |(kg)| (L)
50 | 1/10 | 108 | 77 | 150 | 50 | 53 | 77 | 100 | 15 | 125 | 160 | 11 | 30 | 12 | 4x2.5 20 6x22.8 | 7 | 0.4
60 | 1715 [120 | 82 [ 168 | 60 | 68 | 92 | 100 | 15 | 130 | 190 | 11 | 40 | 15 | 5x3 25 8x28.3 | 10 | 0.5
70 %(5) 140 | 95 | 194 | 70 | 75 | 115 | 120 | 20 | 155 | 230 | 15 | 40 | 18 | 5x3 30 8x28.3 | 15 | 0.6
80 | 1750 1160 [ 100 [214 [ 80 | 96 | 144 | 125 [ 20 | 160 [ 265 [ 15 [ 50 [ 22 | 7 x4 35 10x38.3 | 20 | 1.1
100 | a0 | 190 | 135 | 254 [ 100 [ 100 | 150 | 155 | 22 [ 196 | 310 | 15 | 50 | 25 | 7x4 40 12x43.3| 35 | 1.5
120 | 1,50 | 219 | 160 | 282 | 120 | 120 | 180 | 180 | 28 | 230 | 360 | 18 | 65 | 30 | 7 x4 45 14x48.8 | 60 | 4
135 | 1/60 [ 249 [ 170 | 317 | 135 | 130 | 200 | 200 | 30 [ 250 | 410 | 18 | 75 | 35 | 10 x4.5 60 18 x64.4] 80 | 5.2
- 333 -

0



WP s % A 3R A0

WPDZ

Lo 0
T [T T
9 ' _ '
2 WxY
1]
il || I 1 »
1_©
B HZHZ) i
Higm R R % ; i
l——|
4-4Z M
PN A § A% A _n_ ¢ | BB
G | () |
[Hi HT H
g | ATPR]L I AJ14L WL ] o
BE | (Kw) [POEH|AB|LL BB CC By By | F )G M N Z g TR (2] 0 [ U 1 TxV [IS S | WxY | (ke)
50 [0.18 | 188177 [97]50 (5377 [100[15 [125[160| 11 [115[95 [140[ 10 [M8| 26 | 11 | 4x12.8 [ 40 [ 17 | 5x3 8
0.18 115]95 [140 27 [ 11 | 4x12.8
60 37 115 |80 |82 [112] 60| 68 |92 100| 15 130|190 11 faot 60l 10 M8 5714 T5 i3] 0 | 22 | 7x4 | 125
0.37 130[110[160] , . [M8| 32 | 14 | 5x16.3
70 oS5 1720 [100[95 13170 | 75 |115|120| 20 |15 |230 | 15 f=eizainost 10 o= ——o—te g | 60 | 28 | 7x4 16
0.75 | 1,25 45 | 19 | 6x21.8
80 Ly 120 100|142 | 80 | 96 |14 125 | 20 [160|265| 15 |165130(200| 12 |MI0 g5 g w573 | 65 | 32 | 10x4.5 | 23
1.5 165]130[200] , . [MI0] 60 | 24 | 8 x27.3
100 |55 o 150135169100 100 150 155 | 22 195|310 | 15 Br2teoiveri 15 it =0 1 ag Tga3r 3| 75 | 38 | 10x4.5 | 38
120 %g 150 |165]160(190{120(120 180|180 | 28 |230|360 18 |215/180[250| 18 |MI2| 70 | 28 | 8 x31.3 | 85 | 45 | 12x4.5 | 60
135 2-8 1/60 |185(170(210 (135|130 200|200 | 30 (250|390 18 |[215|180[250| 20 [MI2| 68 | 28 | 8 x31.3 | 95 | 55 | 16x6 80
o | AT | Gk B I , LB INITi} R
bl £ It AB| B |CCIE, |E [ F G LLIN MLLALBLCLELZQ U] TxV | ST WxY | (kg)
50 | 0.18 88 [ 10550 | 53 | 77 |100] 15 | 77 | 160|125 ] 11 |115]95 [140] 10 | M8 | 26 | 11 |4 x12.8 | 20 |6 x22.8 | 8
0.18 115] 95 |140 27 |11 |[4x12.8
60 o3 e 80 |110| 60 | 68 | 92 [100| 15 | 82 [190 130 | 11 F3otio a0l 10 | M8 57 T1a T a1e 3] 25 |8%28.3 | 12.5
0.37 130 [110 | 160 M8 | 32 | 14 |5x16.3
70 o35 1715 10013070 | 75 [115]120] 20 | 95 230 |155| 15 2 ti30Ta001 10 Mirol s 119 T xar g 30 |8%33.3 | 16
075 | 1720 45 [ 19 |6 x21.8
80 : 1,25 [120|150| 80 | 96 |144 |125| 20 [100 |265|160 | 15 [165 |130 (200 | 12 |M10 2135 |10x38.3| 23
L5 | 57 | 24 |8 x27.3
1.5 165 [ 130 | 200 MI0| 60 | 24 |8 x27.3
100 53 %2}8 150 160 100 {100 | 150 | 155 | 22 [135 310|195 | 15 502 ta0Tos01 15 iial 70 Tos T8 <31 3140 [12x43.3| 38
120 §% 1/60 | 165 175|120 120 | 180 | 180 | 28 | 160|360 |230 | 18 215|180 |250| 18 [M12| 70 | 28 |8 x31.3 | 45 |14 x48.8| 60
125 j'g 185 [210 | 135 | 130 {200 [200 | 30 | 170390 |250 | 18 |215 180 |250| 20 [M12| 68 | 28 |8 x31.3 | 60 |18 x64.4| 80
- 334 -

%




WP s % A 3R A

Hh 95 [0) 3= 7~

A

. D L T

TR TS A |AA[AB|BB|BE|AC|BC|AD|BD |HH|HL| L | H | ZxL Lt

CEAE X HS | U | TxV |1s] s | wxy |(ke)
40-70 286 [195 | 153 | 131 | 87 [152] 86 [125] 65 | 35 [200] 90 [215| ml0x25 | 25 | 12 | 4x2.5 | 60 | 28 | 7x4 | 19

50 -80 | 17200 59771197 [144 142108 169 [102 [140 | 70 | 35 |235]105]250 | M12x28 | 30 | 12 | 4x2.5 | 65 | 32 | 10 x4.5 | 28

60 —100 | 17300 3637231175169 [120 216117 [180] 90 | 42 [290 [130[310] MI2 x30 | 40 | 15 5x3 75 | 38 | 10x4.5 | 43

70 —120 | 17400 14087256 [193 [190 [ 140|256 | 124 [220 [100] 55 [345 [ 155|370 | M14 x32 | 40 | 18 | 5x3 | 85 | 45 | 12x4.5 | 64

80 -135 17500 471 1298 226|210 [160 |296 | 147 [260 [ 110 | 65 400 | 185|425 | M16 x35 | 50 | 22 7 x4 95 | 55 16 x6 99

100 - 155 %;ggg 555|354 {269 |252 | 190 | 345 | 185|280 | 120 | 80 |458 |203 |461 | M16 x35 | 50 | 25 7 x4 110 | 60 18 x7 136

120 -175 | {900 [998 1379 287|255 |219 1374|192 |320 [140 | 95 |518 223 |521 | M16 x35 | 65 | 30 7 x4 110 | 65 18 x7 193

135 -200 | ...... 662 [425 |318 319 [256 [412 1230|360 | 150 | 105 | 580 | 245 |575| M20 x36 | 75 | 35 10 x5 125 | 70 | 20 x7.5 | 280
155 =250 795 1510 1380 385 1295 1500 | 285 1420 {190 | 103 | 705 [300 | 700 | M24 x42 | 85 | 40 12 x5 155 | 90 25x9 442

ig @ R |
A
#H
PNES INIBS AN A
X ATl Pkl T
#E | stk | A |AA|AB|BB|BE|HL|ILL| H |HA|HB|M | N |E | F |G| Z a
5| Wkl HS| U | TxY |[1S| s | wxv | (ke
20-70 286195 153|131 ] 87 |110]140 23670 | 50 |150]190 |115150] 20 | 15 | 25 | 12 | 4x2.5 | 60 | 28 | 7 x4 20

50 -80 17200 1397(197[144 [142[108 [130 160 [268 | 80 | 65 [170]220 [135 18020 | 15 | 30 | 12 | 4x2.5 | 65 | 32 | 10 x4.5 27

60 100 | 17300 [3631231(175169 [120[160]200336100] 75 [190|270[155220] 25 [ 15 | 40 | 15 5x3 75 | 38 | 10x4.5 44

70 -120 | 17400 14081256193 190140190 [240[430 120 | 90 [230(320[180260| 30 | 18 | 40 | 18 5x3 85 | 45 | 12 x4.5 73

80 - 135 471298226 |210|160 |215 |270 |480 | 135 |105 1250|350 1200 |290| 30 | 18 | 50 | 22 7 x4 95 | 55 16 x6 101

100 —155 | 1 /gp0 [255]354]269 1252 1190|235 |290 531 |135]130]275390 220|320/ 35 | 21 | 50 | 25 7 x4 110 | 60 18 x7 144

120 175 | 1,900 [998]379 287|255 |219|280[335|600 160|155 [310/430|250(350| 40 | 21 | 65 | 30 7 x4 110 | 65 18 x7 201

135 -200 | ...... 6621425318319 |256 310|375 666|175 |185360{480290390{ 40 {24 | 75 | 35 10 x5 120 | 70 | 20 x7.5 293

155 -250 795]5101380]385]295]355]450]800]200]203 |460]560]380]480]45 |28 | 85 | 40 12 x5 155 ] 90 25 x9 462




WP s % A 3R A0

WPES A
b= 4
i | T/~
A B c E
H ) d M) H
NES A A A A
o NIE H 7%l o
Jl_l
S W#IL | A |[AA|AB|BB|BE|HL|LL|H|HH| M | N | E | F | G| Z ST U TXV ST s WxY | (ke)
40 —70 286 195|153 [ 131 87 | 215|105 [238 | 35 | 150 [190 | 115|150 20 | 15 | 25 | 12 | 4x2.5 | 60 | 28 | 7x4 20
50 -80 | 17200 [297 1197|144 [142]108 250120273 ] 35 |170]220 13518020 [ 15 | 30 | 12 | 4x2.5 | 65 | 32 | 10x4.5 | 27
60 — 100 iﬁgg 363 231|175 169 | 120|310 [ 150 [334 | 42 [190 [270 15522025 [ 15 | 40 | 15 | 5x3 | 75 | 38 | 10x4.5 | 44
70 -120 | (/40 [4081256 1931190 140370180 423|755 [230320 (18026030 [ 18 [ 40 | 18 | 5x3 | 85 | 45 [ 12x4.5 | 73
80 - 135 | (/200 [471[2981226 1210160 [430 215482 ] 65 [250[350 20029030 [ 18 [ 50 [ 22 | 7x4 |95 | 55 | 16x6 | 101
100 - 155 | |"e00 [555 354269 (252190 490235 541 80 [275[390 22032035 [21 [ 50 [ 25 | 7x4 [110] 60 | 18x7 | 144
120 175 | 1000 |398]379 (287 [255 [219 555 [260 [600 | 95 [310 [430 (250350 40 [21 | 65 [ 30 | 7x4 |110| 65 | 18x7 | 201
135-200 | ... 662 [425 |318 [319 | 256 | 625 [290 [677 | 105 |360 [480 [290 [390 | 40 | 24 | 75 | 35 | 10 x4.5 | 125 | 70 | 20 x7.5 | 293
155 — 250 795 510 |380 | 385 | 205 | 755 | 350 | 824 | 103 [460 |560 | 380 [480 | 45 | 28 | 85 | 40 | 12x5 | 155] 90 | 25x9 | 462
A
AA
AB
& ®
\UN ! Al - | -
Q © ®
z
ESUEN 0% 98
4 20 \e
= e &
|
WPEO3Z 15 15 &k 7~ WPEX?# 1§ 8 3k 7~
A A Ak BIA clIn . A<k BIA PN DX =
o N . o 2 - o P
rJ H|H r\J ? r " H| o ;ﬁ " Zﬁ%
= == o == A N ﬁ
L H 714 Hr
72 j 4
W | W | A |AA|AB|BA BB |BC|BE|HB|CA|M | N | E|E B | G| 2 570 7y T8 T5 1 Wx¥ | (ke)
40 -70 286195 153 40 |131] 65 | 87 | 50 |157 156|295 120|120 ]135]20 | 15 | 25 | 12 | 4x2.5 | 60 | 28 | 8x4 19
50 -80 | 17200 1597119714450 [142]70 10865 |188 175 320]140]130]150] 20 | 15 | 30 | 12 | 4x2.5 | 65 | 32 | 10x4.5 | 27
60 — 100 iﬁgg 363231 [175] 60 [169] 90 [120] 75 |222 (224 (3751901551801 26 | 15 | 40 | 15 | 5x3 | 75 | 38 | 10 x4.5 | 44
70120 | /20 [408]256[193]70 [190]100[140] 90 1260(266 [450[220185[215]30 [ 18 40 [ 18 | 5x3 | 85 [ 45 [ 12x4.5 | 63
80 —135 | (/200 [471]2981226] 80 [210]110]160[105]295[306|495|260(210[235[ 30 [ 18 50 | 22 | 7x4 | 95 [ 55 | 16x6 96
100 155 | /800 |555]354]269100(252140[190[130(345 [350{590[290 [245[295[ 35 [21 [ 50 [ 25 | 7x4 [ 110 | 60 | 18x7 149
1202175 | 1900 |398]379(287 [120[255[150 [219]155 [394[394 |640[320 (267 [323[ 40 [ 21 | 65 | 30 | 7x4 | 110 | 65 | 18 x7 191
135-200 | ... 662425 318135319175 |256 | 185 |456 [440 | 710|370 290 [360] 40 | 24 | 75 | 35 | 10 x4.5 | 125 | 70 | 20 x7.5 | 278
155 — 250 795 [510 380155 385 [200 [295 [203 [545 [510 [860 440 [350 [440] 45 [ 28 | 85 | 40 | 12x5 | 155] 90 | 25 x9 442
- 336 -




WP s % A 3R A

WPWED [—= =
‘.9.
T —+
—+9|3 _'... ...... H_ AT
i ° |
A A ATy wa I
_>||= © Q@) \ o
—— x
- < i -
15 15 TR = ﬁ‘i‘T—Sl’|@_
A B < L
" ’ ==
BC
AlA
o IR : , LITE VIt IR
w5 A | AB| BB | BE | AC | BC |AD [ BD [HL| LL| H | ZxL Fo e e Tz T o T iy T T e LWy L be)
4070 [0.12 [1/200[314 | 153 | 131 | 75 | 152 ] 86 | 125 65 [200 | 90 |215 | MI10 x25|115] 95 [140] 4 | M8 |31 | 11 [4x12.8] 60 | 28 | 7 x4 | 19
50-80 0.18 314 [144 [142] 83 [169 102140 70 235105 |250 |M12 x28 | 115 ] 95 [ 140 4 | M8 | 31 | 11 [4 x12.8] 65 | 32 |10 x4.5| 28
60-100]0.37]1/300[387 [175 [ 169 | 91 [216 117 [180 ] 90 290 | 130 [310 | M12 x 30130 | 110 [160 | 4 | M8 | 33 | 14 |5 x 16.3] 75 | 38 |10 x4.5] 44
037 425 109 130 [ 110160 M8 |40 | 14 |5 x16.3
70-120 (2140013224 193 190 1994256 | 124 220|100 345 [ 155 |370 | M14 x32 (201403004 4 (8L 0 18 3 x16.34 55 | 45 112 x4.5| 66
80 - 135 {BI11/5001 499 1226 | 210 | 125|296 | 147 | 260 | 110|400 | 185 |425 | MI6 x35 | 165 | 130|200 |4.5 |M10 2513 gig;g 95 |55 | 16 x6 | 101
100-155] 1.5 |1/600[570 [ 269 | 252 | 148 | 345 | 185 | 280 | 120 | 458 | 203 |461 | M16 x 35 | 165 | 130 |200 |4.5 [M10] 52 | 24 |8 x27.3]110] 60 | 18 x7 | 139
120 - 175-3-2-{1/800] 631 | 287|255 | 181374 192320 | 140 518|223 | 521 |M16 %35 |215 | 180 [250| 5 [M12| 63 | 28 8 x31.3|110| 65 | 18 x7 |196
135 - 200 3-01/900] 680 | 318|319 {202 412 {230 360 | 150 | 580 | 245 | 575 | M20 x 36 | 215 | 180 | 250 Mi12| 63 | 28 |8 x31.3]125 | 70 |20 x7.5|285
15522500 5.5 | - 815 [ 380|385 | 247 | 500 | 285 [420 | 190 | 705 | 300 | 700 | M24 x 42265 |230 | 300 Mi2] 83 | 38 |10 x41.3[155 ] 90 | 25 x9 1450
._B.E_.|.__BB—.
o
A ﬁwxv
o| @ E- j | —"?l_ &
72| 3 /@ﬂ .Lts |
I 2 4|
S8 R r,Z S( i
o ) &3 Lk T i
: : - :
- 5 : 5 : [ \ bt
H W H R H
AN EDN AN N
v PR T J T INED T iR
g LA e e LR BN B P 2 i e T Tz e T b T TS Wt e
20-70 0. 12]1/200[314 [ 153 [ 131 75 110140236 70 | 50 |150]190 115|150 20 | 15 | 115] 95 |140| 4 | M8 |31 | 11 |4 x12.8] 60 | 28 | 7 x4 |19
0-80[0.18|  [314]144142] 83 [130]160]268 | 80 | 65 [170]220]135]180] 20 | 15 [115] 95 |140| 4 | M8 |31 | 11 |4 x12.8] 65 | 32 |10 x4.5]27
60-100]0.37]1/300[387 [175 [ 169 ] 91 [160]200]336[100] 75 |190]270]155220] 25 | 15 [130 110|160 4 | M8 | 33 | 14 |5 x16.3] 75 | 38 |10 x4. 5|45
037, 0 [425 109 130110 160 M8 140 | 14 |5 x16.3
70120 f3-3H1/400 (4234193 190 HEH 190|240 430 120 | 90 [230|320{180|260| 30 | 18 ({33060 4 (MELA0 L AB 8034 55 | 45 112 4.5 75
80-135%1/500 4991226 (210125215270 480135105 250350200290 | 30 | 18 | 165 | 130|200 | 4.5 [M10 ‘5‘3 ;49‘ gigég 95 | 55 | 16 x6 |103
100153 1.5 |1/600[570 269 [252 [ 148|235 |290 531 [ 135 | 130275390 220 |320| 35 | 21 | 165 | 130 |200 |4.5 |[M10| 52 | 24 |8 x27.3]110] 60 | 18 x7_|147
10175 2:241/800|631 287|255 181 |280 335|600 160{155|310|430 250 350 | 40 | 21 |215 | 180|250 | 5 |M12| 63 | 28 8 x31.3[110| 65 | 18x7 [204
135-200%1/900 680(318|319(202 310 (375|666 | 175|185 |360 480 |200 390 | 40 | 24 |215|180 250 | 5 |M12| 63 | 28 |8 x31.3|125 | 70 |20 x7.5[298
15522500 5.5 | -+ 815380385 247 |355 450800200203 460 560|380 480 45 | 28 | 265|230 [300 | 5 _|M12] 83 | 38 | 10x4L.3 | 155] 90 | 25 x9 _|470
- 337 -

0




N B

WPEDS
A
AB
: 4-1.7]
0 ~C
_ &
] _________ AN A
N\
; I SR A G e
Hig R T | *g;
© © y >
A B © D E ) ‘ ] “’HH-—T
# | # _’| |
PPN A A PPN A
o (AT EGH IR = AJ14L 1% By
B V5 | A |AB BB BE | HL|LL| H | M | N | E | F | G | Z o tOT R T 0T U LTV 15T S [ Wx¥ |(ke)

60 |28 | 7x4 |19
65 | 32 [10 x4.5] 27

40-70 10.121/200{ 314 | 153 | 131 | 75 |215|105 238 [ 150 | 190 | 115|150 20 | 15 |115]95 [140| 4 | M8 | 31 | 11 |4 x12.
50-80 0.18 314 (144|142 | 83 [250 (120|273 |170 /220|135 180 |20 | 15 [115|95 [140| 4 | M8 | 31 | 11 |4 x12.

60-100[0.37|1/300[387 [175 [ 169 | 91 [310[150 334 [190 [270]155 [220 [ 25 | 15 [130[110[160| 4 [ M8 33 | 14 |5 x16.3] 75 | 38 |10 x4.5| 45
0.37 425 109 130 [110 [ 160 M8 | 40 | 14 |5 x 16.
70120 {555 1/400F 453 193 [ 190 (771370 | 180 423 230 320 | 180|260 | 30 | 18 H2st3012001 4 Miiof 42 19 le 2t 8| 85 | 45 |12 x4.5| 75

80 - 135 -12-{1/500| 499 | 226 [210 | 125 | 430 | 215 | 482 |250 |350 | 200 {290 | 30 | 18 | 165|130 |200 4.5 |M10 g‘g 2 gi%

5
100 -155] 1.5 |1/600{570 [269 [252 [ 148 [490 [235 [ 541 |275 [390 [220 [320 | 35 | 21 [165 [130[200[4.5 [M10] 52 | 24 |8 x27.
120—175%21/800 631 {287 255|181 [555 (260 |600 |310 |430 250|350 | 40 | 21 |215 (180|250 | 5 |MI12| 63 | 28 |8 x31.

95 | 55 | 16 x6 [103
110 ] 60 | 18 x7 |147
110 | 65 | 18 x7 |204

(S I LS (OR] (o o] (o c] LUR] (R} [ee] (oo}

3.0
135 -200 43&8 179001 680 318 {319 | 202 | 625 | 290 |677 |360 [480 | 290 [390 | 40 | 24 215|180 |250| 5 |M12| 63 | 28 (8 x31.3|125| 70 [20 x7.5|298
155 -250] 5.5 |-t 815 [380 [ 385 1247 [755 {350 1824 [460 |560 1380 480 | 45 | 28 [265 1230 (300 5 [Mi12| 83 | 38 [10x41.3[155] 90 | 25 x9 470

WP ED X% 5 [a) & 7
A A A BA | (A A Aow B | Ay, c A D | A E
T | B | YT il == =
H i Q1 H [ D lL DT R tH & N
L O——] — L] O——] L C——] C——]
o (ATD B |, | Bk AL A T
e ||| 4| am B s be B w0 | N B BB |6 2 i e T T T T e Ly T TS T v
2070 [0. 12]1/200[314 | 153 | 40 [131] 65 | 75 | 50 |145 156|295 |120]120135] 20 | 15 [115] 95 [140] 4 | M8 | 31 | 11 |4 x 12.8] 60 | 28 | 7 x4 |19
0-80]0.18] _ [314]144]50 [142]70 | 83 | 65 [163]175]320]140[130[150] 20 | 15 [115] 95 [140] 4 | M8 | 31 | 11 4 x12.8] 65 | 32 |10 x4.5] 27
60-100]0.37]1/300[387 175 60 [169] 90 | 91 | 75 |191]224]375190]155180] 26 | 15 [ 130 [ 110|160 4 | M8 | 33 | 14 |5 x 16.3] 75 | 38 |10 x4.5] 45
0.37] . [425 109] o\ [229 130 [ 110 | 160, M8 [ 40 [ 14 |5 x16.3
10-10[0-301/40014234193 | 70 (190 100 19 90 (2291266 450|220 | 185|215| 30 | 18 1301101601, LML 40 |14 8 x16.3) g5 | 4s |12 x4.5] 65
80-135[0-2{1/5001499 226 | 80 |210{110{125 105 |260 306|495 |260(210|235| 30 | 18 | 165|130 {200 4.5 |M10|-45{1946XZL-Bl 95 | 55 | 16 x6 |98
100-155] 1.5 |1/600[570 269 | 100 252 | 140 148 | 130|303 |350 590 290 | 245 295 | 35 | 21 | 165|130 |200 |4.5 [MI0] 52 | 24 |8 x27.3]110] 60 | 18 x7 |52
1201751 221,/800( 631 287120 |255 | 150 | 181 | 155|356 304 | 640 320|267 |323 | 40 | 21 |215 180 [250 | 5 |[M12] 63 | 28 8 x31.3]110| 65 | 18 x7 |194

1352001 1/9001680 [318|315 |319 | 175|202 | 185 |402 |440|710 370 [290(360| 40 | 24 |215 | 180 (250 | 5 |MI2| 63 | 28 |8 x31.3|125| 70 |20 x7.5[283
155-250[ 5.5 | -+ 815[380 (1551385 (2001247 {203 [497 |510 860 [440]3501440| 45 | 28 [265 230 |300| 5 [MI2| 83 | 38 | 10x41.3155] 90 | 25 x9 1450

%



=% We e

WPWEK

]

&

[
e T _(;

%

.

M
\\Nu|
)l

WigE R

; BID' I '1’“7+

.’—’BCI | AD 8-ZXL

s AC
X A D1 1% T

42 | Jkekt | A |AA|AB| B |BE | AC|BC|AD|BD |HH|HL | LL | H | ZxL i
MG | L * HS | U | TxV | s | wxy | (ke
30-70 286 | 195 | 153 | 130 | 87 | 152 | 86 | 125 | 65 | 35 [200 | 90 |215 | MI0x25 | 25 | 12 | 4x2.5 | 30 | 8x33.3 | 17

50 -80 | 17200 597197 [ 144 [ 150 | 108 | 169 | 102 [ 140 | 70 | 35 [ 235 | 105 [250 | M12x28 | 30 | 12 | 4x2.5 | 35 |10 x38.3 | 28

60 100 | 17300 3637231 [175 | 160 | 120 [ 216 | 117 | 180 | 90 | 42 [ 290 | 130 [310 | MI2 x30 | 40 | 15 | 5x3 | 40 | 12 x43.3 | 43

70 - 120 | 17490 408 (256 | 193 [ 175 | 140 | 256 | 124 | 220 | 100 | 55 | 345 | 155 | 370 | M14 x32 | 40 | 18 5x3 45 |14 x48.8 | 64

80 -135 471 [ 298 | 226 | 210 | 160 | 296 | 147 | 260 | 110 | 65 |[400 | 185 |425 | M16 x35 | 50 | 22 7 x4 60 |18 x64.4| 99

100 =155 | {)g0p 1355|354 | 269 |256 | 190 | 345 | 185 | 280 | 120 | 80 |458 | 203 | 461 | M16 x35 | 50 | 25 7 x4 70 120 x74.9| 136

120 175 | {900 [298 |379 |287 |282 |219 | 374 | 192 |320 | 140 | 95 | 518 | 223 | 521 | M16 x35 | 65 | 30 7 x4 80 122 x85.4] 193

135-200 | ...... 662 | 425 | 318 | 320 | 256 | 412 | 230 | 360 | 150 | 105 | 580 | 245 | 575 | M20x36 | 75 | 35 | 10x4.5 | 85 |22 x90.4| 280

155 -250 795 [ 510 | 380 | 400 | 295 | 500 | 285 [ 420 | 190 | 103 | 705 {300 | 700 | M24 x42 | 85 | 40 12 x5 110 28x116.4 442

|

H
T

:‘f: | : | - 4-Z @
Hig B T M

] AJith % B
| A |AA|[AB| B |BE|HL|LL| H |HA|HB|M |N|E | F |G| Z SR
B | WKL HS | U TxV S wxY |[(kg)
40 =70 286 (195 [153 [130 | 87 [ 110140236 ] 70 [ 50 [150 [190 [ 115|150 [ 20 [ 15 [ 25 [ 12 | 4x2.5 | 30 | 8 x33.3 | 20

50 —80 | 17200 2971197 [144 | 150 | 108 | 130 | 160 | 268 | 80 | 65 | 170 |220 [ 135|180 | 20 | 15 | 30 | 12 | 4x2.5 | 35 |10x38.3 | 27

60 —100 | 17300 13637231 175 [ 160 | 120 | 160 | 200 | 336 | 100 | 75 | 190 [270 | 155 [220 | 25 | 15 | 40 | 15 5x3 40 |12 x43.3 | 44

70 =120 | 17400 4087256 [193 [ 175 | 140 | 190 | 240 [430 | 120 | 90 [ 230|320 [ 180|260 | 30 | 18 | 40 | 18 | 5x3 | 45 |14 x48.8 | 73

80 135 471 1298 | 226 | 210 [ 160 | 215 | 270 [480 | 135 | 105|250 |350 {200 [290 | 30 | 18 | 50 | 22 7 x4 60 |18 x64.4 | 101

100 155|190 |255]354 269 |256 | 190 | 235 | 290 |531 | 135 | 130 [ 275|390 | 220 |320 | 35 | 21 | 50 | 25 7 x4 70 |20 x74.9 | 144

120 - 175 {900 [598 | 379 | 287 |282 | 219 | 280 | 335 | 600 | 160 | 155 | 310 {430 | 250 |350 | 40 | 21 | 65 | 30 7 x4 80 |22 x85.4| 201

135 -200| ...... 662 | 425 | 318 | 320 {256 | 310 | 375 | 666 | 175 | 185 | 360 [ 480|290 {390 | 40 | 24 | 75 | 35 | 10x4.5 | 85 |22x90.4 | 293

155 -250 795 1510 1380 | 400 [ 295 | 355 | 450 [ 800 | 200 | 203 | 460 | 560 | 380 |480 | 45 | 28 | 85 | 40 12 x5 110 |28 x116.4| 462

- 339 -




N B

A
BE |
TXV -
. rEl ]
_1—|h;| G NI
<9 . A\HI
I RN (7)==,
I T i (,,I = Loy il
. 3 . e ]
_ HHE A
$$?§’["ﬂ§7ﬁ j ir:'E—j 4-7
b b
it ] o
; s
‘I—E—'I
oM
) AJih HH 1% e
| A |AA|AB| B |BE|HH|HL|LL| H | M E|F |G| Z L 2
| WL N HS | U TxV S wxY |(kg)
40 =70 286 | 195 [ 153 [ 130 | 87 | 35 [215]105 [238 [ 150 [ 190 [ 115 [150 [ 20 [ 15 [ 25 [ 12 | 4x2.5 | 30 | 8 x33.3 | 20

50 -80 | 1720 [297 [197 | 144 | 150 | 108 | 35 | 250 | 120 | 273 | 170 | 220 | 135 | 180 | 20 | 15 | 30 | 12 | 4x2.5 | 35 |10x38.3 | 27
60 —100 | 17300 36377231 [ 175 | 160 | 120 | 42 310 | 150 | 334 | 190 | 270 | 155 [ 220 | 25 | 15 | 40 | 15 | 5x3 | 40 |12x43.3| 44
70 —120 | 17400 740871256 | 193 [ 175 | 140 | 55 | 370 | 180 | 423 | 230 | 320 | 180 | 260 | 30 | 18 | 40 | 18 | 5x3 | 45 |14 x48.8 | 73
80 — 135 471 | 298 | 226 [ 210 | 160 | 65 | 430 | 215 | 482 | 250 | 350 | 200 | 290 | 30 | 18 | 50 | 22 | 7x4 | 60 |18 x64.4 | 101
100 ~155] 1/g00 | 555 | 354 [ 269 [256 [ 190 | 80 [490 [235 [541 [275[390 [220 [320 35 [ 21 [ 50 | 25 | 7x4 | 70 [20x74.9| 144
120 =175 1900 | 398 | 379 | 287 [282 [219 | 95 |555 | 260 | 600 | 310 | 430 250 [350 | 40 | 21 | 65 | 30 | 7x4 | 80 |22 x85.4 | 201

135 -200| ...... 662 | 425 | 318 | 320 | 256 | 105 | 625 | 290 | 677 | 360 [ 480 [290 [390 | 40 | 24 | 75 | 35 | 10x4.5 | 85 |22x90.4| 293
155 -250 795 1510 [ 380 | 400 [ 295 | 103 | 755 | 350 | 824 [ 460 | 560 | 380 | 480 | 45 | 28 | 85 | 40 12 x5 110 |28 x116.4| 462

Higm &R
Ani-.__r" _ﬁxnaz\"z-%r°
“P BVzany D) Jzany
NN TSP | iy
[P—— L L

WS || A |[AA|AB| B |[BA|BC|BE|HB|CA|H | M | N |E |E |E|G]|Z
40 =70 286 | 195|153 130 | 40 | 65 | 87 | 50 | 157|140 | 152|305 |120 {120 |155)20 |15 | 25 | 12 | 4x2.5 | 30 | 8§ x33.3

50 —80 | 1720 (2971197144 [150 | 50 | 70 [108 | 65 | 188 |155 174 [350 | 140|140 [180| 20 | 15 | 30 | 12 | 4x2.5 | 35 |10x38.3 |30.5

60 —100 | 17300 1363231175160 | 60 | 90 | 120 | 76 |222 [192 |224 [410 190 [ 165|215 ] 22 | 15 | 40 | 15 | 5x3 | 40 |12 x43.3 | 47

70 — 120 | 17400 [4081256 193|175 | 70 |100 | 140 | 90 |260 [225 |264 [494 [220 | 195 [255| 25 | 18 | 40 | 18 5x3 45 |14 x48.8 | 69

80 —135 471 (298 {226 210 | 80 | 110 [160 | 105|295 |255 [304 |559 |260 230 [285| 30 | 18 | 50 | 22 7 x4 60 |18 x64.4 | 105

100 = 155| ;800 [355 1354|269 |256 100 | 140 | 190 | 130 | 345 | 320 | 345 | 605 | 290 | 250 |305 | 35 | 21 | 50 | 25 7 x4 70 [20x74.9 | 163

120 —175| | ;900 |998 1379 [287 |282 | 120 | 150 [219 | 155 | 394 |365 |374 |675 320|273 |348 | 40 | 21 | 65 | 30 7 x4 80 |22 x85.4| 208

135 -200] ...... 662 | 425|318 |320 | 135 | 175 |256 | 185 | 456 |415 |424 |749 |370 (305390 | 40 [24 | 75 | 35 | 10x4.5 | 85 |22x90.4 | 302

155 =250 795 1510 1380400 | 1551200 295 [203 | 545 [458 |510[920 [440 3751475145 |28 | 85 | 40 12 x5 110 |28 x116.4| 476
- 340 - P




WPEDKS

Hh 18 @ R OR

HL

an
Ll

WP s % A 3R A

A — B C
) AR AT
(M, (PRl
CHHAHC SHEEES
AR fgﬂ'ﬂ&l ==
PPN N A
s AZ) | hiiE HALEE AJ1fL o R
we | | P A A B BE HLILL | H M N E | F 6|2 g e Tz L0 [0 Ty TS Wy Jke)
40-70 | 0.12 314153 130] 75 |215]105238 150|190 [115]150] 20 | 15 [115] 95 [140] 4 | M8 |31 | 11 [4x12.8]30 |8 x33.3] 19
50-80 | 0.18 314144 ]150] 83 |250 120273 170|220 135180 20 | 15 [ 115] 95 [140| 4 | M8 | 31 | 11 |4 x12.8 | 35 |10 x38.3] 27
60 —100 [ 0-37 | | 200 |387/175 [160] 91 [310[150[334]190[2701155[220[ 25 | 15 [130 [110 160 | 4 | M8 | 33 | 14 |5 x16.3 | 40 [12 x43.3| 45
0.37 425 109 130 [ 110 ] 160 M8 | 40 | 14 |5 x16.3
70 -120 (931 }288 2321193 175 1370180423 230|320 180 260 | 30 | 18 {2 A0HO0H 4 R 0819200-30 45 114 x48.8| 75
80 — 135 01'755 1/500 (499 226 (210|125 (430 |215|482(250 350 |200{290| 30 | 18 | 165 | 130 [200 | 4.5 [M10 ‘S‘g 1 gi%g 60 |18 x 64.4| 103
100 155 1.5 | 17900 1570|269 [256 148 490|235 341 (275 390220 |320| 35 | 21 |165 | 130|200 [4.5 [M10| 52 | 24 |8 x27.3| 70 20 x74.9] 147
120 - 175331 17800 (631|287 |282 181|555 |260 600|310 430 (250|350 40 | 21 |215 180|250 | 5 |M12| 63 | 28 |8 x31.3 | 80 22 x85.4|204
3.9 11900
135 -200 50 680318320 202 625290 |677 360 480 290|390 | 40 | 24 215|180 | 50 | 5 |[M12] 63 | 28 |8 x31.3 | 85 [22 x90.4| 298
155 -250] 5.5 815|380 400247 755 |350 824|460 560 | 380 480 45 | 28 |265 230|300 | 5 |Mi2| 83 | 38 |10 x41.3| 110 |28 x 116.4] 470

Lt
— T =e BA BC
)i | Hes - ez
H|dH A Hj
o i R e o IS T T ik
= = pa A |AB| B |[BA|BC|BE|HB|CA|M | N |E |E, |E, | G | Z TA[IB|LC[IE]IZ] O U TXV 3 WxY |(ke)
40-70 10.12 314[153]130/40 |65 |75 |50 [145]152|305]|120]120{155]20 |15 |115]95 |140| 4 | M8 | 31 | 11 |4 x12.8 |30 |8 x33.3]20
50-80 [0.18 3141144150150 {70 | 83 | 65 [163]174|350/140(140{180/20 [15 [115]95 |140| 4 | M8 | 31 [ 11 |4 x12.8 | 35 [10 x38.3]| 31
60 —100 |0.37 1/200 387(175]160| 60 |90 |91 | 75 [191|224|410]|190]165]215]|22 |15 [130 110|160 | 4 | M8 | 33 | 14 |5x16.3 |40 [12 x43.3]| 48
0.37 425 109 229 130 /110 | 160 M8 |40 | 14 |5 x16.3
70 - 120 0.75 123‘88 445 193|175|70 1007111 90 5311 26414941220(195(255|25 | 18 165 1130 1200 4 M0 42 119 16 x21.8 45 |14 x48.8| 71
80 - 135 01 755 1/500 {4991226|210| 80 {110]125|105(260{304(559|260(230(285|30 |18 | 165 | 130|220 (4.5 |[M10 gg ég g i%;g 60 |18 x64.4|107
100 -155] 1.5 };288 570(269(256(100/140]148[130(303|345|605/290]250({305] 35 |21 | 165|130 (200 [4.5 |M10| 52 | 24 |8 x27.3 | 70 |20 x74.9|166
120 - 175 %% 1/800 |631]287|282(120(150|181|155(356|374|675|320(273(348 |40 |21 [215]180|250| 5 [M12| 63 |28 |8 x31.3 | 80 |22 x85.4|211
- 1/900
135 =200 28 680(318(320(135(175|202|185(402(424|749|370(305(390|40 (24 [215|180 (250 | 5 |[MI12| 63 | 28 |8 x31.3 | 85 |22 x90.4|307
155 -2501 5.5 815(38014001155]200(247]2031497(510]920(4401375|1475]145 |28 12651230300 5 [MI2] 83 | 38 |10 x41.3][110[28 x116.4|484
- 341 -

0




WP s % A 3R A0

WPEDKA

o ] Wk AL VLD T [
w0 PR A aB| B BE[HLILL) 1 HAHB| M N E | F ) 6| 2 i e T T T o T O L Ty TS Wy Lhe)
30-70 [0.12 314[153]130] 75 [110]140236] 70 | 50 [150(190[115]150(20 | 15 [115] 95 [140] 4 | M8 |31 [ 11 [4x12.8]30 |8 x33.3 | 19
50-80 [0.18 314]144]150] 83 [130[160]268] 80 | 65 [170[220[135]180[ 20 | 15 [115] 95 | 140 4 | M8 | 31 | 11 |4 x12.8 ] 25 [10 x38.3] 27
60100 [0-37] | 700 13871175]160] 91 [160[200[336]100] 75 [190[270[155[220(25 [ 15 [130 [ 110|160 | 4 | M8 | 33 | 14 |5 x16.3 | 40 [12 x43.3] 45
0.37 125 109 130110 | 160 M8 |40 | 14 |5 x16.3
70 -120 0-31 {23188 1221193175 194190 (240|430{120| 90 230|320{ 180|260 30 | 18 (391041601 4 L840 815X 06- 31 45 114 xa8.8| 75
80 - 135 [0-221 1/500 499226 (210{125 |215[270 480|135| 105 250|350 200290 | 30 | 18 | 165 | 130 200 |4.5 |M10 23130 X284 70 18 x64.4] 103
100155 1.5 %’88 570[269 1256|148 ]235]290/531|135]130]275/390(220]320 | 35 | 21 | 165 | 130|200 |4.5 [M10| 52 | 24 |8 x27.3 | 70 |20 x74.9]| 147
120 -175 13-4 1/800 (631287 |282(181|280|335|600{160| 155|310 |430[250{350| 40 | 21 215|180 |250| 5 [M12| 63 |28 |8 x31.3 | 80 |22 x85.4|204
3.9 117900
135 -2003- 680[318 320(202[310/375|666175|185[360480(290(390 | 40 | 24 [215 [ 180|250 | 5 |[M12| 63 | 28 |8 x31.3 | 85 |22 x90.4[298
1552501 5.5 815[380/400(247 355 450(800/200 203]460/560/380/480 45 | 28 | 265 1230 1300 | 5_|Mi2| 83 | 38 |10 x41.3| 110 |28 x 116.4[470
W15 [ R~
A B C
iRt AR | R4
Al X N A
g | A B AL 22 ATl L I
WS "% Tf | A [AB| B |BEACBCIAD|BD HL | LL | H | ZxL Mg i e TR (12 0 [ U L TxV [ S | WxY |(ke)
40-70 [0. 12 314153 130 75 |152] 86 [125] 65 [200] 90 [215 |M10 x25]115] 95 |140] 4 | M8 |31 | 11 [4x12.8] 30 |8 x33.3 | 18
50-80 0. 18 314 144150 | 83 169|102 140 70 [235 105250 [M12 x 28] 115 | 95 [140| 4 | M8 | 31 | 11 |4 x12.8 ] 35 |10 x38.3] 28
60 -100 [0.37] | 1200 [387 1751601 91 [216[117]180] 90 [200[ 130 310 [M12 x30[ 130 | 110|160 | 4 | M8 |33 | 14 |5 x16.3 | 40 12 x43.3] 44
0.37 425 109 130110 | 160 M8 |40 | 14 |5 x16.3
70-120 {037 iﬁgg 12211193 |175 [[941256 | 124 {220 | 100 345 | 155|370 |M14 x 3220410100 4 L3820 113 13631 45 114 48 8| 66
80 - 135 01-755 1/500 |499 {226 |210 [ 125 |296 | 147|260 | 110 [400 | 185 |425 [M16 x35| 165 | 130 | 200 [4. 5 |M10 ‘5‘3 19 gi%g 60 |18 x64.4| 101
100 155] 1.5 | /990 [570 269 256 | 148 [345 | 185|280 120|458 | 203 [461 [M16 x 35| 165 [ 130|200 [ 4.5 [MI0| 52 | 24 |8 x27.3 | 70 [20 x74.9|139
120175 3-2-1 1/800 | 631 | 287|282 | 181|374 | 192 |320 | 140 |518 |223 | 521 |M16 % 35(215 | 180 [250 | 5 |[MI2| 63 | 28 |8 x31.3 | 80 [22 x85.4|196
0017900
135 2005 680 |318 (320 |202 |412 |230 360 | 150 | 580 [245 | 575 [M20 x 36| 215 | 180 [250 | 5 |[M12] 63 | 28 |8 x31.3 | 85 [22 x90. 4| 285
155-25015.5 815 380 [400 | 247 [500 1285 [420 | 190|705 |300 | 700 [M24 x 421265 1230 1300 | 5 |Mi2] 83 | 38 10 x41.3] 110 |28 x 116.4450
- 342 -

<




WP s % A 3R A

| [ 2
‘ Iw | @ ‘!g| _%_i: :5 !i!
= | =° = ° | " ‘| ; |‘
_.-.-|-. ;h—m m M
A=) A== A== v
A A AL
I figk|%] A |[AB| B |BB|CC| E| F | H|HL| M| N| G| Z P i il =

HS| U TxV LS| S WxY | (keg)

33 |1.5]30 |137| 86 (124 |79 |33 | 75 | 95 (12040 | 90 |110| 10 | 7 | 30 | 14 5x3 30 | 16 5x3 4
43 |1.5] 40 170 | 103 {134 | 85 | 43 | 80 | 100|141 | 42 | 100|120 | 11 | 9 | 30 | 15 5x3 30 | 16 5x3 5
48 |1.5] 50 (177|106 [135| 85 | 48 | 75 |115|151 |40 | 95 |135| 12 | 7 |30 | 15 5x3 30 | 16 5x3 7
55.5/1.5]| 60 |197 [116 | 145 | 90 55.5| 80 | 130|171 | 40 |100|150| 13 | 7 | 30 | 15 5x3 30 | 16 5x3 7
331 2 |20 |137|86 (12479 |33 |75 | 95 (12040 [ 90 |110| 10 | 7 | 30 | 14 5x3 30 | 16 5x3 4
43 | 2 |30 |170 | 103 {134 | 85 | 43 | 80 | 100|141 | 42 |100|{120| 11 | 9 | 30 | 15 5x3 30 | 18 | 6x3.5 5
53 | 2 |40 (175|105 (140 | 88 | 53 | 90 |116 162 | 42 |110|140| 12 | 9 | 30 | 15 5x3 30 | 18 | 6x3.5 7
63 | 2 |50 |194 | 118 [155|99 | 63 [102 135|183 | 45 [120|160| 13 | 9 | 30 | 16 5x3 35 | 18 | 6x3.5 10
73 | 2 | 60 225|132 (184 |110| 73 124|174 |211| 52 | 150|200 | 15 | 12 | 30 | 16 5x3 35 | 18 | 6x3.5 15

43 |12.5] 20 (170 | 103 {134 | 85 | 43 | 80 | 100 |141| 42 |100|120| 11 | 9 | 30 | 15 5x3 30 | 18 | 6x3.5

53 12.5] 30 |175|105 (140 | 88 | 53 | 90 | 116|162 | 42 |110|140| 12 | 9 | 30 | 15 5x3 30 | 18 | 6x3.5

63 [2.5]40 230 (139|181 |114| 63 |114 [160 |197 | 55 |140|190 | 14 | 12 | 40 | 22 | 6x3.5 |40 | 24 8 x4 14

78 |2.5| 50 |257 [146 [ 199 [119 | 78 | 130|188 (232 | 62 |160|220| 16 | 12 | 40 | 22 | 6 x3.5 | 50 | 28 8 x4 18

90 [2.5| 60 |288 [176 |215|138 | 90 | 130 (210|294 | 70 | 170|246 | 17 | 14 | 50 | 24 8 x4 50 | 28 8 x4 24

48 | 3 |20 (192|116 |163 102 | 48 | 90 [120 |161 | 47 (120|150 | 13 | 11 | 35 | 18 | 6 x3.5 |35 |22 | 6x3.5 7
63 | 3 |30 (230 (139|181 |114| 63 |114 160|197 | 55 |140|190| 14 | 12 | 40 | 22 | 6x3.5 | 40 | 24 8 x4 14
78 | 3 | 40 |257 [146 [ 199 [ 119 | 78 | 130|188 (232 | 62 |160|220| 16 | 12 | 50 | 22 | 6x3.5 | 50 | 28 8 x4 18
93 | 3 | 50 |301 | 185|224 | 114 | 93 | 154|206 280 | 77 | 180|240 | 17 | 14 | 50 | 24 8 x4 50 | 28 8 x4 24
108 | 3 | 60 327|196 (238|154 | 108 | 135|238 |350 | 80 | 164 |268 | 17 | 14 | 50 | 28 8 x4 60 | 34 10 x5 30
63 | 4 | 20 (230|139 181 |114| 63 114|160 |195| 55 [140|190| 14 | 12 | 40 | 22 | 6x3.5 | 40 | 24 8 x4 14
82 | 4 |30 (263|162 221|140 | 82 | 154|184 (246 | 68 [180|220| 17 | 14 | 50 | 24 8 x4 50 | 28 8 x4 24
102 | 4 | 40 {310 | 187|246 |160 | 102|144 |234 |342 | 80 180|270 | 18 | 14 | 50 | 28 8 x4 60 | 34 10 x5 30
122 4 | 50 373|224 296|190 | 122|188 |274 |390 | 95 (220|310 | 22 | 16 | 60 | 30 8 x4 70 | 38 12 x5 48
80 | 5 |20 268|171 253|168 | 80 | 134|184 (252 |80 (170 |215| 16 | 14 | 60 | 30 8 x4 70 | 34 10 x5 25
105| 5 | 30 326|203 (270|178 | 105 | 144 |234 |341 | 80 (180|270 | 18 | 14 | 65 | 30 8 x4 70 | 38 12 x5 36
130 | 5 | 40 366|222 (275|181 | 130|184 |284 [392 | 80 220|320 | 21 | 16 | 65 | 30 8 x4 75 | 42 12 x5 48
153 | 5 | 50 439|267 293|194 | 153|190 |350 [464 | 112 230|390 | 25 | 18 | 80 | 36 10x5 | 80 | 40 12 x5 70
122 6 | 30 383|234 396|190 | 122|188 |274 {390 | 95 (220|310 |22 | 16 | 70 | 38 10x5 | 70 | 38 12 x5 50
1531 6 | 40 439|267 (293 | 194 | 153 | 190 | 350 | 464 | 112|230 {390 | 25 | 18 | 80 | 36 10 x5 80 | 40 12 x5 70
183 | 6 | 50 [519 310|327 213|180 210|390 |540 | 112|250 {430 | 26 | 18 | 80 | 36 10 x5 85 | 42 12 x5 82

- 343 -




WP s % A 3R A0

ANFVHTh R T H AR

WP. WPK. WPWK(A.S.X.0.T.X)

N F1 5l %535 : 15001/ min

7

=

IR Sl ATl Iy
- %ﬁﬁtt 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60 | 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1/40 | 1/50 | 1/60
40 0.40 1 0.33 | 0.26 | 0.24 | 0.22 | 0.16 | 0.14 | 0.12 19 23 20 25 25 24 26 26
50 0.65 | 0.52 | 0.40 | 0.37 | 0.34 | 0.27 | 0.24 | 0.20 31 36 35 38 39 40 43 43
60 1.00 | 0.82 | 0.65 [ 0.59 | 0.54 | 0.45 | 0.40 | 0.32 | 50 68 56 68 62 71 75 70
70 1.60 | 1.35 | 1.10 [ 0.96 | 0.82 | 0.67 | 0.61 | 0.52 83 98 101 112 99 104 113 113
80 2.20 | 1.78 | 1.36 | 1.28 | 1.20 | 0.90 | 0.80 | 0.75 | 113 133 120 149 151 140 145 163
100 3.60 | 3.10 | 2.60 | 2.35 | 2.10 | 1.68 | 1.30 | 1.00 | 193 237 258 284 277 291 257 229
120 5.20 | 4.35 | 3.50 | 3.25 | 3.00 | 2.20 | 1.90 | 1.50 | 262 336 361 404 413 392 399 355
135 9.75 | 7.85 | 6.00 | 5.50 | 5.00 | 3.69 | 2.89 | 2.30 | 540 622 619 696 707 607 626 562
155 12.80(9.90 | 7.00 | 6.53 | 6.00 | 4.40 | 3.61 | 3.00 | 709 785 722 842 848 784 770 791
175 17.3013.60[10.00| 9.13 | 8.30 | 6.18 | 4.85 | 4.07 | 958 | 1091 | 1044 | 1221 | 1189 | 1133 | 1127 | 1078
200 22.60|18.20 (13.86 |12.75|11.67 | 8.78 | 6.71 | 5.58 | 1280 | 1477 | 1482 | 1643 | 1782 | 1654 | 1516 | 1449
250 33.20(27.40 (21.60|20.00 | 18.43 |14.00 | 10.43 | 8.62 | 1881 | 2266 | 2310 | 2579 | 2745 | 2674 | 2357 | 2371
NI R K H N 5ER
WPD. WPDK. WPWD. WPWDK. (A.S.X.0.T. V)%l
N A Eh#EE i : 1500r/min
(BCH A02 B¢ Y RFIHAL)
Ui KI5 VAVIE IR RAWAL:  DAK:
UK L 1710 | 1/15 | 1/20 | 1/25 | 1/30 | 1740 | 1/50 | 1/60 | 1/10 | 1/15 | 1/20 | 1/25 | 1/30 | 1740 | 1/50 | 1/60
iR
40 0.12 6 8 9 13 14 15 19 20
50 0.18 9 12 16 19 20 24 31 35
60 0.37 19 26 34 42 42 58 67 73
70 0.75 0.37 39 54 70 87 95 58 68 70
80 1.5 0.75 77 112 142 174 189 137 150 154
100 1.5 80 115 149 181 198 260 307 344
120 3 2.2 151 232 310 372 413 392 480 521
135 4 3 219 321 413 509 565 542 649 690
155 5.5 270 | 411 525 | 709 | 760 | 904 | 1100 | 1260
175 7.5 5.5 415 602 783 | 1002 | 1074 | 1008 | 1278 | 1450
200 11 623 892 | 1176 | 1417 | 1680 | 2072 | 2485 | 2856
250 15 11 850 | 1246 | 1604 | 1933 | 2234 | 2101 | 2486 | 3025
- 344 -




WP s % A 3R A

AR H AN ER
WPE. WPEK. WPWE. WPWEK

WPED. WPEDK. WPWED. WPWEDK( A.S. X. 0) &

N F1EhEE 3 : 15001/ min

WPE. WPEK. WPWE. WPWEK WPED. WPEDK. WPWED. WPWEDK
i) PIE I W L Iol ek Lt
1,200 | 1/300 | 1/400 | 1/500 | 1/600 | 1,/800 | 1,900 | 1,200 |1/300 | 1/400 | 1/500 | 1/600 | 1/800 | 1/900
40 - 70 ASTEHIIR (kW) | 0.48 | 0.34 | 0.28 | 0.25 | 0.23 | 0.20 | 0.17 | 0.12 | 0.12 | 0.12 | 0.12 | 0.12 | 0.12 | 0.12
H A% (Nm) | 250 | 250 | 250 | 250 | 250 | 250 | 250 63 88 107 120 130 | 150 | 177
50 - 80 A5 A1 (kW) | 0.65 | 0.51 | 0.42 | 0.38 | 0.31 | 0.29 | 0.25 | 0.18 | 0.18 | 0.18 | 0.18 | 0.18 | 0.18 | 0.18
H 4% (Nm) | 350 | 350 | 350 | 350 | 350 | 350 | 350 97 124 | 150 | 166 | 203 | 217 | 252
60 — 100 AS1E A5 (kW) | 0.95 | 0.67 | 0.52 | 0.44 10.440| 0.35 | 0.33 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37 | 0.37
H 5S4 (Nm) | 500 | 500 | 500 | 500 | 500 | 500 | 500 | 195 | 276 | 356 | 420 | 463 | 529 | 561
70 - 120 AJ 5 (kW) | 1.64 | 1.18 | 0.91 | 0.84 | 0.71 | 0.58 | 0.54 | 0.75 | 0.75 | 0.75 | 0.75 | 0.75 | 0.37 | 0.75
H A5 S%E(Nm) | 840 | 840 | 840 | 840 | 840 | 840 | 840 | 384 | 534 | 692 | 750 | 887 | 536 | 1166
30 - 135 AS1E A (kW) | 2.5 | 1.75 [ 1.39 | 1.19 | 1.08 | 0.98 | 0.85 | 1.5 1.5 1.5 1.5 1.5 10.75 | 1.5
H 3 1% (Nm) | 1400 | 1400 | 1400 | 1400 | 1400 | 1400 | 1400 | 616 | 880 | 1108 | 1294 | 1426 | 1071 | 1811
100 — 155 ASTE A1 (kW) | 3.69 | 2.92 | 2.41 | 2.07 | 1.89 | 1.69 | 1.50 | 1.5 1.5 1.5 1.5 1.5 1.5 1.5
H 4 %6 (Nm) | 2100 | 2100 | 2100 | 2100 | 2100 | 2100 | 2100 | 854 | 1079 | 1307 | 1522 | 1667 | 1864 | 2100
120 - 175 AS1E A (kW) | 5.09 | 3.91 [ 3.27 | 2.72 | 2.53 | 2.05 | 2.05 3 3 3 3 3 2.2 3
H 13156 (Nm) | 3050 | 3050 | 3050 | 3050 | 3050 | 3050 | 3050 | 1798 | 2340 | 2798 | 3364 | 3616 | 2685 | 4463
135 —200 AT SIME (kW) | 7.22 | 5.41 | 4.46 | 3.83 | 3.46 | 2.91 | 2.71 4 4 4 4 4 3 4
H A3 A5 (Nm) | 3950 | 3950 | 3950 | 3950 | 3950 | 3950 | 3950 | 1288 | 2920 | 3543 | 4125 | 4566 | 4072 | 5830
155 —250 ASEh (kW) | 11.71 | 8.14 | 6.00 | 5.14 | 4.67 | 4.07 |3.67 | 5.5 | 5.5 | 5.5 | 5.5 | 5.5 | 5.5 | 5.5
H 3156 (Nm) | 6050 | 6050 | 6050 | 6050 | 6050 | 6050 | 6050 | 2841 | 4087 | 5546 | 6473 | 7125 | 8175 | 9066

WD B N5 T 2= K By HH Al AR 4B 3R

H NEH%E 3 : 15001/ min

s s NS | o s (ST BN ] | L FE T BN ST | ey o | 5 50 0 N 5 4
BEWRMIY "mx | wem | (RS EEL "oz | s | (2SR Y oz e | (RS EEL % | we

15 | 0.21 13 30 | 0.84 114 20 | 1.11 105 15 | 3.12 241
33 | 1.5 73 2 78 3 105 5

30 | 0.14 14 60 | 0.57 122 40 | 0.73 115 30 | 2.08 | 270

20 | 0.22 17 10 | 0.37 16 25 | 1.49 176 20 | 3.58 | 369
43 1.5 43 12.5 93 3 130 | 5

40 | 0.16 19 20 | 0.25 18 50 | 0.96 190 40 | 2.27 | 393

25 1 0.23 23 15 | 0.43 30 30 | 2.00 | 283 25 | 4.70 | 570
48 1.5 53 |2.5 108 3 153 5

50 | 0.18 28 30 | 0.29 32 60 | 1.10 | 261 50 | 2.90 | 595

30 | 0.26 32 20 | 0.67 64 10 | 1.20 57 15 | 4.63 358
55.511.5 63 |2.5 63 4 122 | 6

60 | 0.20 38 40 | 0.45 70 20 | 0.73 59 30 | 2.80 | 385

10 | 0.28 13 25 |1 0.95 110 15 | 1.75 132 20 | 5.21 537
33 2 78 2.5 82 4 153 6

20 | 0.16 11 50 | 0.64 120 30 | 1.10 139 40 | 3.29 603

15 | 0.31 21 30 | 1.32 187 20 | 2.60 262 25 | 6.60 851
43 2 9 (2.5 102 | 4 180 | 6

30 | 0.22 24 60 | 0.82 188 40 | 1.68 282 50 | 3.96 908

20 | 0.40 36 10 | 0.63 31 25 | 3.28 412
53 2 48 3 122 | 4

40 | 0.27 39 20 | 0.39 30 50 | 1.88 395

25 | 0.65 74 15 | 0.85 60 10 | 2.36 122
63 2 63 3 80 5

50 | 0.42 75 30 | 0.58 69 20 | 1.36 118

- 345 -




WP s % A 3R A0

WP R%IH W mBEREER

HAOHMBRE R (N)
ns Aiﬁﬁﬁ R

1/5 1/10 1715 1/20 1/25 1/30 1/40 1/50 1/60

1500 540 540 540 540 540 540 540 540

* 1000 540 540 540 540 540 540 540 540

1500 700 840 870 870 870 870 870 870 870

» 1000 780 870 870 870 870 870 870 870 870
1500 780 780 870 1000 1000 1100 1300 1500 1500
* 1000 800 800 950 1100 1100 1200 500 1500 1500
1500 870 870 1200 1350 1400 1550 900 2000 2000
0 1000 920 920 1300 1500 600 1700 2000 2000 2000
1500 1250 1250 1600 1950 2000 2100 2500 2700 2900
W 1000 1350 1350 1700 2100 2200 2300 2700 2900 2900
1500 1260 1260 1600 1950 2000 2100 2500 2700 3100
10 1000 1350 1350 1700 2100 2200 2300 2700 3000 3300
1500 1350 1350 1700 2100 2100 2200 2800 3150 3500

0 1000 1400 1450 1780 2200 2300 2380 2980 3350 3810
1500 2100 2300 2800 3300 3400 3600 4400 5000 5600

s 1000 2200 2500 2950 3550 3700 3900 4700 5400 6000
1500 2700 3000 3500 4200 4300 4500 5500 6400 7200

e 1000 2900 3300 3800 4500 4700 5000 6000 6900 7500
1500 5800 6300 7800 9300 10000 10500 10800 10800 10800
o 1000 6000 6600 8200 10000 10500 10800 10800 10800 10800
1500 6600 7200 8700 9900 10500 11500 12700 13200 13200
" 1000 7000 7650 9500 10500 11000 12000 13200 13200 13200
1500 7400 8400 9900 10650 11000 12000 13500 16000 16000
. 1000 7800 8800 10500 11600 12000 13200 16000 16000 16000
1500 8700 10200 12400 13000 14700 18300 19800 19800
e 1000 11000 13200 16800 17000 18000 19800 19800 19800

< 346 -




1%

1.

WP s % A 3R A

7t B 77 ik

IEER

BNIhE i H e sE

iy AT AR L R A R 8 SR

AT P(KW) =i thHH TN, m) > fir e N, (1/min) /(9549 x 2% )

I SE ML A DS g Ja AL A0 A B0 T A i R e D D LR TR BRRE T, B0 7™ i R 2% DR e 351
Hy, ATEESE R I 2B E

NS B A

B Al S B S A B A S

i e N, (v/min) = B AR N, (o/min) (230 1L i

UL LA B B BB KPR Gh A 15 s, g A B AN B i 2000 (1/min ), — B4 3T 600 — 1800 (1/min)
e Aok v (b RO R AR T 4 T 1

BRI AT

R = (i R/ AL #) < 100%

FH T DBl BLAz 2 B A B A B 5 AR B0, 0 A RE DR e A0 o VBB A AR TR AE , R U I A Ly A RE 1
FFHR  RCR A w2 IR IR T TS 50 T T T 0 SRR A R EE 4 BEL ) B e A T P BE R AR K5 . B
I AL B LB B HACREAE A A AR, T 2250 AR A 7E FEEE, w] Bt T 2%

2424 1/10 1/15 1/20 1/25 1/30 1/40 1/50 1/60
& 77~90% | 76~88% | 75~84% | 72~82% | 68~82% | 64~75% | 62~72% | 60~71%
4. BN B E A 7T @

5.

ST AL bt (] 5 g o) R T g A A8 2 ) A AL g el R L S A AR SF . DAAS S W P R REAS
WPA B8 R K5, TG Al i RO, S AR 17 e ek st S e % O 1) SR R4 5 L WPS B
R R, DG AR i OULE S AT B D7 1) e B AR S D Il Sy 3 A, A A i i
REMCAEA T HE DL b i e e 1) o YRR T BT SR S Ty ) T A TE T A7 100 1E S I o
TREH
A HLAE BT, FLf A 2 ) 25 5 K a/r P AR 2 R8T 5 B T34 B R B i )\ /N R far B AN AR Y AR
THCBEE , TS PRl I, 3037 T8 (A0 < 2 5 A [ 52 A s 5 1 s 86 0F S i (B a2 50 Tl 2 T /U
Wl 2R AT KN R ) T RE S BRAR T 0 AH 25 et | 78 e RS N T 700075 1, 76 18 FHS0E A L A ol i b e s, sk
TN ALINEMEIE «
EIEHTHFHE T,(N.m) = HUSHIHR A T)(N. m) x TR K

- 347 -




WP s % A 3R A0

TITREH KEEXR
5 HiEEERE (/)
FEEhH HERR 0.5~2 2-~6 6 ~10 10 ~24
PR 0.80 0.90 1.00 1.25
EEhHL & 0.90 1.00 1.25 1.50
BRimE 1.00 1.25 1.50 1.75
U ERBESEFRE L /MTRE 10 R ER, ER K EFERFE 1.2
EBISLA EAREFER
fEzhat TR ER

OERYEEE W =600kg
OEMYHEEE V=12m/min
OFE®EZ D=0.4m

@ BIHRIETNNE v, =0.92
@ BEHIEFHE 1, =0.71

@ iZ¥:EtiE 8 /ME/H

O EENRE 2R/ I, KM E

O FEMAMIE =4 380V,50Hz

priitkigl -
¥ % AEZAEN HER D)
ELH A A 0 e 30 L
1. R e e N, 1. N, =12/(0.4 x3.142)
N, = R V/ (A B D xom) 2 g
I e | 2 SRS =150
i = A N,/ AR N, 3. B i =50
3. FHEMAENLERIL i, I
i = »'é\'fgﬁﬂ 54 l/&%%1§fj}f§ﬁ] Lt i
SHSLLEBL Hi A T
2| MSEEAERE | T= MR W x 10 xR (D/2)/ (Mt sy | = 000010 % (0-4/2)7(0.92 x3)

i, x SRR S0 )

FRAEAE 25,8 /NI is i Fokmily, THURBK =1.5
3 & 1E % R THAE R4 T,
TI = f-fﬁm%%ﬁ TxK

T1 =260.9 x1.25
=326N. m

W 1% P
4| Az | P EIERTRELIE T x i R N, (9549 x W HLAL Bk Pff;;”““m“%wxaﬂ>
%37]2) o
5 R A A R 120, EEhH 1/30. B AT 3KW. S SE 413N, m

< 348 -




= Wb e

ZEFEEDM

ol S AL 22 2 R 1 [ PR e L, TP DA A 20 I [ | B 7

JEBHL—IRGEAL— AL A IR 1, 225 i o 70T FLAH A X R 26

Dol M LA A i B i S s il (1 MR 28 22 ROST 35998 6 hilA , 5 22 AR PO BB A 8 2 4 R AR SR AL S 1 N AL
R PR 2 2 RS PE ) e 2B P A R 7, 2B P A S I T 8 3 o

HEFS A A AT AL B A AR IS RS FE AT AR | DL A S il S

WPD ZY sl AL P AL AL, IR S AT Sk ¥ A FL AL BE B SRR A o PR B, s A B IO ad 5, B L L H R A4

VI HIA% 2 WPD Jsi AL, 5 v AL o o i A, I B S e

EREEEm

(EOENHIPNRESY e oL RIVE AL S NG RSP N Em I AR DN T B e R R AT (R N TR E
[i) 1 [E1 5 07 1) S5 2 AT 5 T 2K

i HEAEAS b 00 I B A v BT R 5K, T B8 1 1R RS- Rl It i B TR i3 <
i, s e 2 /NFETE  DBGENL T TR e o e 2T P R B T a0 20 A ) ek R, A
WURE BER Kt , JEH A E O 100 /N 4 B80T

& (EHIERE PR AN F G OUS WK I SRS A, T 2 B R Dt DA B A e i " A PR (O AL A il

i fr e SLVFIA B 95°C ARl BE S BRE , Bl AN H LT, wl LA EHT) o

AL FEE R R, AT 3R T 3RI%E AR B o

ARRE ARG ISO VG | GB3141 -82 Mobil AGMA thEAH
i@ VG -100 N100 Shell Omala 100 Gear 627 5 HD -100
-3C ~ -15C
2} VG -150 N150 Shell Omala 150 Gear 629 7 HD -150
i@ VG -150 N150 Shell Omala 150 Gear 629 7 HD - 150
-15C ~5%C
B VG -220 N200 Shell Omala 220 Gear 630 TEP HD -220
i@ VG -220 N220 Shell Omala 220 Gear 630 7EP HD -220
5C ~25C
£ VG -320 N320 Shell Omala 320 Gear 632 6 HD -320
T8 VG -320 N320 Shell Omala 320 Gear 632 6 HD -320
25°C ~40%C
2} VG -460 N460 Shell Omala 460 Gear 634 8 HD -460
i@ VG -460 N460 Shell Omala 460 Gear 634 8 HD -460
40°C ~65C
=2} VG -680 N680 Shell Omala 680 Gear 636 8EP HD -680

- 349 -




WP s % A 3R A0

W PS R E K IR ik

L eI eI
L L | TA R RS S 3 AT L
B i R
T B R B AR
S i3 2 5K el H % R B
S 1 2 S 22 A
UL AL | TR AR R4 5 R B BT
S5 8 4 RE S A
e @
HIRIEE AR
R [ St
BRI K SR
RG4S R e 1 T e
#*E
I A e i R T
B4 St A L1540 T3
A 15 3t e
PSR A
W it & el H % R B
HOR IR SR IR
i S
R fiEg e
S ARG R S
*Eggi? SR e 2 T
AT B 5 HoLE 2R Sl
1. i A e ik 2
AR z.%ﬂi@%@iﬁiéﬁﬁ
- 350 -




